

sup19
Rectangle


H>%CATALOGUE

H 3% (catalogue)

i} 5 H
REFERENCE fii® DESCRIPTION PAGE
01100 FERRULE FOR CHINA1-WIRE HOSE 2
01200 FERRULE FOR CHINA2-WIRE HOSE 2
01300 FERRULE FOR CHINA3-WIRE HOSE 3
01400 FERRULE FOR R12/20-24& ‘FEIYU’ 4-SPIRAL HOSE 3
00100 FERRULE FOR SAE 100R1AT/DIN20022 1ST HOSE 4
00110 FERRULE FOR SAE 100RIAT/DIN20022 1SN HOSE 4
00110-A FERRULE FOR SAE 100RIAT/DIN20022 1SN HOSE 5
00200 FERRULE FOR SAE 100R2AT/DIN20022 2ST HOSE 5
00210 FERRULE FOR SAE 100R2AT/DIN20022 2SN HOSE 6
03310 FERRULE FOR SAE 100R2AT/DIN20022 2SN HOSE 6
00400 FERRULE FOR 4SP. 4SH/10-16. R12/06-16 HOSE 7
00401 FERRULE FOR R12/20-24 HOSE 7
00018 FERRULE FOR SAE 100R7 HOSE 8
00TFO FERRULE FOR TEFLON HOSE 8
00500 FERRULE FOR SAE 100 R5 HOSE 9
00621 FERRULE FOR GB/T 10544 R13/SAE 100 R13/EN856 R13 HOSE 9
10311 O-RING METRIC MALE FLAT SEAT 14
2021120211-T | METRIC FEMALE FLAT SEAT 15
20241 20241-T | 45° METRIC FEMALE FLAT SEAT 16
20291 20291-T | 90° METRIC FEMALE FLAT SEAT 17
10411 METRIC MALE 24°CONE SEAT L.T. 18
2041120411-T | METRIC FEMALE 24° CONE O-RING L.T. 19
20411C METRIC FEMALE MULTISEAL 24° CONE L.T. 20
20411C-T

20441 20441-T | 45° METRIC FEMALE 24° CONE L.T. 21
20491 20491-T | 90° METRIC FEMALE 24° CONE O-RING L.T. 22
20491C 90° METRIC FEMALE 24° CONE MULTISEAL L.T. 23
20491C-T 23
10511 METRIC MALE 24° CONE SEAT H.T. 24
20511 20511-T | METRIC FEMALE 24° CONE O-RING H.T. 25
20511C METRIC FEMALE 24° MULTISEAL H.T. 26
20511C-T

20541 20541-T | 45° METRIC FEMALE 24° CONE O-RING H.T. 27
20541C 45° METRIC FEMALE 24° MULTISEAL H.T. 28
20541C-T

20591 20591-T | 90° METRIC FEMALE 24° CONE O-RING H.T. 29
20591C 90° METRIC FEMALE 24° MULTISEAL H.T. 30

20591C-T




H>%CATALOGUE

10611

20611 20611-T
20691 20691-T
10711

20711 20711-T
20741

20791

10811L

20111 20111-T
20141 20141-T
20191 20191-T
50011

50091

51011

51091

NS NL

12211

12611

12611A

22611 22611-T
22611-W
22611D
22611D-SM
22641 22641-T
22641-W
22691 22691-T
22691-W
22691K

22111 22111-T
22111-W
22141 22141-T
22141-W
22191 22191-T
22191-W
13011-SP
14211

24211 24211-T
24211-W
24291 24291-T
24291-W
15611

16011

16711L

16711

METRIC MALE DOUBLE USE FOR 60°
METRIC FEMALE 60° CONE

90° METRIC FEMALE 60° CONE
METRIC MALE 74° CONE

METRIC FEMALE 74° CONE SEAT

45° METRIC FEMALE 74° CONE SEAT
90° METRIC FEMALE 74° CONE SEAT
METRIC MALE 90° CONE

METRIC FEMALE MULTISEAL

45° METRIC FEMALE MULTISEAL

90° METRIC FEMALE MULTISEAL
METRIC STANDPIPE STRAIGHT

90° METRIC STANDPIPE STRAIGHT
BSP STANDARD PIPE

90° BSP STANDARD PIPE

RETAINING NUT L.T.

BSP MALE O-RING SEAL

BSP MALE 60° CONE SEAT

BSP MALE DOUBLE USE FOR 60° CONE SEAT OR BONDED SEAL
BSP FEMALE 60° CONE

BSP FEMALE 60° CONE DOUBLE HEXAGON
BSP FEMALE 60° CONE DOUBLE HEXAGON
45° BSP FEMALE 60° CONE

90° BSP FEMALE 60° CONE

BSP FEMALE CONE DOUBLE HEXAGON
BSP FEMALE MULTISEAL

45° BSP FEMALE MULTISEAL

90° BSP FEMALE MULTISEAL

BSP MALE

ORFS MALE O-RING SEAL
ORFS FEMALE FLAT SEAT

90° ORFS FEMALE FLAT SEAT  ISO 12151-1—SAE J516
NPT MALE

SAE O-RING SEAL

JIC 74° MALE CONE SEAL LONGER
JIC 74° MALE CONE SEAL

31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50

51
51
52
53

54
55

56
57
58
59
60
61
62
63

64
65




H>%CATALOGUE

26711

26741 26741W
26791 26791W
26791K

17811

27811

21611

87312

87342

87392
87392-H
HALF
FLANGE
87612

87642

87692

18611

28611 28611W
28691 286912
19611

29611 29611W
29691 29691W
88111

88141

88191
20011-ST
70011

700M

72011

720B

90011

90012

JIC FEMALE 74° CONE SEAT

45° JIC FEMALE 74° CONE SEAT

90° JIC FEMALE 74° CONE SEAT

90° JIC COMPACT FEMALE 74° CONE SEAT
SAE MALE 90° CONE

SAE FEMALE 90° CONE SEAT
NPSM FEMALE 60° CONE

SAE FLANGE 3000 PSI

45° SAE FLANGE 3000 PSI

90° SAE FLANGE 3000 PSI

90° SAE FLANGE SPECIAL HEIGHT
FL 3000 PST HALF FLANGE

FS 6000 PSI HALF FLANGE

SAE FLANGE 6000 PSI

45° SAE FLANGE 6000 PSI

90° SAE FLANGE 6000 PSI

JIS METRIC MALE 60° CONE SEAT
JIS METRIC FEMALE 60° CONE SEAT
90°JIS METRIC FEMALE 60° CONE SEAT
JIS GAS FEMALE 60° CONE SEAT

JIS GAS FEMALE 60° CONE SEAT

90° JIS GAS FEMALE 60° CONE SEAT
JIS FLANGE

45° JIS FLANGE

90° JIS FLANGE

METRIC FEMALE WATERWASH INSERTS 20011-ST

METRIC BANJO
METRIC BOLT

BSP BANJO

BSP BOLT

DOUBLE CONNECTOR
DOUBLE CONNECTOR

66
67
68
69
69
70
71
72
73
74
75
76
76
77
78
79
80
81
82
83
83
84
85
85
86
86
87
88
89
90
90
91




£ FERRULE

525

(INDEX)

aanie

anni

01104 01200 01304 01400 U104y 00110
il [ 111 ?1 duiniln

00110-A 00200 00z10 03310 00400 00401

™ =

ooo1s 00TFO 00500 00621




£ FERRULE

L

JAﬂTﬂHWTL 01100

[ 7 — [ R B 1A
FERRULE FOR CHINA1-WIRE HOSE

(=2 K% HOSE BORE R~} DIMENSIONS
PART NO. AFKNEDN | #r5DASH L
01100-03 5 03 28
01100-04 6 04 30
01100-05 8 05 32
01100-06 10 06 32
01100-08 12 08 34
01100-10 16 10 39
01100-12 20 12 43
01100-14 22 14 43
01100-16 25 16 50
01100-20 32 20 59
01100-24 40 24 74
01100-32 50 32 78
L

01200

I 7 R AR B
FERRULE FOR CHINA2-WIRE HOSE

Rz [ & HOSE BORE R~} DIMENSIONS
PART NO. AFRHN4EDN | 455 DASH L
01200-03 5 03 28
01200-04 6 04 30
01200-05 8 05 32
01200-06 10 06 32
01200-08 12 08 34
01200-10 16 10 39
01200-12 20 12 43
01200-14 22 14 43
01200-16 25 16 50
01200-20 32 20 59
01200-24 40 24 74
01200-32 50 32 78




£ FERRULE

L
01300
E 7 = 2R R E B
FERRULE FOR CHINA3-WIRE HOSE
Rz ¥ HOSE BORE R~} DIMENSIONS
PART NO. AFRHNAEDN | #55DASH L
01300-04 6 04 30
01300-05 8 05 32
01300-06 10 06 32
01300-08 12 08 34
01300-10 16 10 39
01300-12 20 12 43
01300-14 22 14 43
01300-16 25 196 50
01300-20 32 20 59
01300-24 40 24 74
01300-32 50 32 78
L

WHTWT 01400

R12/20-24 N E 7= RFEIEZ N2 G5 R E EH
FERRULE FOR R12/20-24& ‘FEIYU’ 4-SPIRAL HOSE

rRE 52 HOSE BORE X~ DIMENSIONS
PART NO. AFRHN4EDN | 455 DASH L
01400-04 6 04 37.5
01400-06 10 06 39
01400-08 12 08 41
01400-10 16 10 43
01400-12 20 12 51
01400-14 22 14 54
01400-16 25 196 61.5
01400-20 32 20 67.5
01400-24 40 24 75
01400-32 50 32 79




£ FERRULE

2 &
il
SAE 100RIA/DIN20022 1ST K& &
FERRULE FOR SAE 100R1AT/DIN20022 1ST HOSE
K5 % HOSE BORE R~ DIMENSIONS

PART NO. AFRMNIEDN | #55DASH L
00100-02 4 02 27
00100-04 6 04 30
00100-05 8 05 31
00100-06 10 06 32
00100-08 12 08 34
00100-10 16 10 37
00100-12 20 12 43
00100-16 25 16 50
00100-20 32 20 59
00100-24 40 24 74
00100-32 50 32 78

g L

T

SAE 100R1AT/DIN20022 1SN REER
FERRULE FOR SAE 100R1AT/DIN20022 1SN HOSE
(=2 % HOSE BORE R~ DIMENSIONS

PART NO. AFRMNEDN | #35DASH L
00110-03 5 03 24.5
00110-04 6 04 30
00110-05 8 05 31
00110-06 10 06 32
00110-08 12 08 34
00110-10 16 10 37
00110-12 20 12 43
00110-16 25 16 50
00110-20 32 20 59
00110-24 40 24 74
00110-32 50 32 78




£ FERRULE

Hi
1 SAE 100R1AT/DIN20022 1SN 3 & & 1%

FERRULE FOE SAE 100R1AT/DIN20022 1SN HOSE

Rz ¥ HOSE BORE R~} DIMENSIONS
PART NO. AFRNIEDN | #5'5DASH L
00110-03A 5 03 23
00110-04A 6 04 30.5
00110-05A 8 05 30
00110-06A 10 06 32
00110-08A 12 08 34
00110-10A 16 10 37
00110-12A 20 12 42
00110-16A 25 16 51

L

mﬁﬁﬁ 00200

SAE 100R2A/DIN20022 2ST REE R
FERRULE FOR SAE 100R2AT/DIN20022 2ST HOSE

(=2 [k HOSE BORE R~} DIMENSIONS
PART NO. AFKNEDN | #55DASH L
00200-02 4 02 27
00200-04 6 04 30
00200-05 8 05 31
00200-06 10 06 32
00200-08 12 08 34
00200-10 16 10 37
00200-12 20 12 43
00200-16 25 16 50
00200-20 32 20 59
00200-24 40 24 74
00200-32 50 32 78




£ FERRULE

I -

SAE 100R2AT/EN 853 2SN # /&£
FERRULE FOR SAE 100R2AT/DIN20022 2SN HOSE

(=2 K% HOSE BORE R~} DIMENSIONS
PART NO. AFKNEDN | b5 DASH L
00210-03 5 03 24.5
00210-04 6 04 30
00210-05 8 05 31
00210-06 10 06 32
00210-08 12 08 34
00210-10 16 10 37
00210-12 20 12 43
00210-16 25 16 50
00210-20 32 20 59
00210-24 40 24 74
00210-32 50 32 78
FEAHER T AR
L

Z
i W 03310

SAE 100R2AT/EN 853 2SN H & &Y
— FERRULE FOR SAE 100R2AT/DIN20022 2ST HOSE

(=2 [k HOSE BORE R~} DIMENSIONS
PART NO. AFRHN4EDN | 455 DASH L
03310-03 5 03 23
03310-04 6 04 30.5
03310-05 8 05 30
03310-06 10 06 32
03310-08 12 08 34
03310-10 16 10 37
03310-12 19 12 42
03310-16 25 16 51
03310-20 32 20 59
03310-24 40 24 67
03310-32 50 32 72




£ FERRULE

00400

4SP. 4SH/12-16. R12/06-16 &£
FERRULE FOR 4SP. 4SH/10-16. R12/06-16 HOSE

T

(=2 [k HOSE BORE R~} DIMENSIONS
PART NO. AFKNEDN | b5 DASH L
00400-04 6 04 37.5
00400-06 10 06 39
00400-08 12 08 41
00400-10 16 10 43
00400-12 20 12 51
00400-16 25 16 61.5
00400-20 32 20 67.5
00400-24 40 24 75
00400-32 50 32 79
L

=g i

LT

00401

ASH. R12/326 & ER
FERRULE FOR 4SP. 4SH/10-16. R12/06-16 HOSE

(=2 K% HOSE BORE R~} DIMENSIONS
PART NO. AFRAN4EDN | 455 DASH L
00401-20 32 20 67.5
00401-24 40 24 75
00401-32 50 32 79




£ FERRULE

e 00018
SAE 100 R7 & ETE
FERRULE FOR SAE 100R7 HOSE
o % HOSE BORE R~} DIMENSIONS
PART NO. AFRHNAEDN | #5DASH L
00018-03 5 03 27
00018-04 6 04 29
00018-05 8 05 31
00018-06 10 06 31
00018-08 12 08 34
00018-10 16 10 36
00018-12 20 12 43
00018-16 25 16 50
7 7
00TFO
f= St
PR B
FERRULE FOR TEFLON HOSE
o K HOSE BORE R~} DIMENSIONS

PART NO. AWRHNAEDN | $55DASH L
00TF0-03 4 03 26.5
00TFO0-04 6 04 30.7
00TF0-05 8 05 30.6
00TF0-06 10 06 32.1
00TF0-08 12 08 34.3
00TF0-10 16 10 37
00TFO0-12 20 12 42.8
00TFO-14 22 14 4.7
00TF0-16 25 16 50.8




£ FERRULE

00500

SAE 100 R5 REER

FERRULE FOR SAE 100 R5 HOSE

rR5 [ & HOSE BORE R~} DIMENSIONS
PART NO. AR 1EDN FR'SDASH | SAE tr 5 L
00500-03 4 03 04 22.6
00500-04 6 04 05 25.7
00500-05 8 05 06 22.4
00500-07 11 07 08 26.2
00500-08 12 08 10 27.7
00500-10 16 10 12 29.7
00500-14 22 14 16 33.5
00500-18 28 18 20 42.7
00500-22 35 22 24 47
00500-29 46 29 32 50.8
00500-38 60 38 40 63.0
——— 00621
GB/T 10544 R13/SAE 100 R13/EN856 R13
UUH FERRULE FOR FERRULE FOR SAE 100 R5 HOSE
- — HERNIMNZERE
Rz ¥ HOSE BORE R~} DIMENSIONS
PART NO. AFRHN4EDN | 455 DASH L
00621-12 20 12 53
00621-16 25 15 66
00621-20 32 20 88.5
00621-24 40 24 102
00621-32 50 32 108




B3k HOSE FITTING

AZ2Z&5] ( INDEX)

20691

Sy
‘r,%)//,,




B3k HOSE FITTING

N

AN
ri?////ﬂ”/,, S

12611 12611A 22611 22611D KLB11D-5M

14211 24211

11



B3k HOSE FITTING

77
I

47611

12



B3k HOSE FITTING

20011-51

70011 700M 71011 710M 72011 720B

vuo11 90012




B3k HOSE FITTING

A

i L

/. 10311

NHISMRSCT O T8 %
O-RING METRIC MALE FLAT SEAT

g = wooe B G
AFRAE by 5 A C S1
10311-12-04 M12X1.25 6 04 225 10 14
10311-14-04 M14X1.5 6 04 235 11 14
10311-16-04 M16X1.5 6 04 235 11 17
10311-16-05 M16X1.5 8 05 235 11 17
10311-16-06 M16X1.5 10 06 235 11 17
10311-18-06 M18X1.5 10 06 235 11 19
10311-22-05 M22X1.5 8 05 27 12 24
10311-22-06 M22X1.5 10 06 26 12 24
10311-22-08 M22X1.5 12 08 26.5 12 24
10311-27-10 M27X1.5 16 10 31.5 13 30
10311-30-12 M30X1.5 20 12 33.5 14 32
10311-36-12 M36X2 20 12 35.5 16 38
10311-36-14 M36X2 22 14 35.5 16 38
10311-39-16 M39X2 25 16 39 16 41
10311-45-20 M45X2 32 20 445 50 46
10311-52-24 M52X2 40 24 475 22 55
10311-64-32 M64X2 50 32 52.5 27 65

E L ERRESHTRARE. 2. FEHTHESETENRSHCN 10312-xx-xX.

NOTE : 1. FOR USE WITHBRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

SERIES NUMBER IS 10312-XX-XX.

14



B3k HOSE FITTING

[ ! g A

S o
%mﬂﬁw Pl o o

B L | S L
s g [ b7 4t P B

METRIC FEMALE FLAT SEAT

20211 20211-T
foB P L m— A

AR s A C S2
20211-10-02 M10X1 4 02 14 6 14
20211-12-03 M12X1.25 5 03 14 8 17
20211-14-04 M14X1.5 6 04 16 8.5 19
20211-14-05 M14X1.5 8 05 15.5 8.5 19
20211-16-04 M16X1.5 6 04 16.5 8 22
20211-16-05 M16X1.5 8 05 17 8 22
20211-16-06 M16X1.5 10 06 16.5 8 22
20211-18-05T M18X1.5 8 05 17.5 8 24
20211-18-06 M20X1.5 10 06 18.5 8 24
20211-20-06T M20X1.5 10 06 16 10 24
20211-20-08 M20X1.5 12 08 18.5 10 27
20211-22-06T M22X1.5 10 06 16 10 27
20211-22-08 M22X1.5 12 08 19.5 10 27
20211-22-10 M22X1.5 16 10 19.5 10 27
20211-24-08T M24X1.5 12 08 16.5 11 30
20211-24-10 M24X1.5 16 10 20.5 10.5 30
20211-27-08T M27X1.5 12 08 18.5 10 32
20211-27-10T M27X1.5 16 10 21 10 32
20211-30-12 M30X1.5 20 12 22 11 36
20211-33-14 M33X2 22 14 21.5 13 41
20211-36-12T M36X2 20 12 24 13 41
20211-36-14T M36X2 22 14 24 13 41
20211-39-16T M39X2 25 16 25 13 46
20211-42-20W M42X2 32 20 25 15 50
20211-45-20T M45X2 32 20 27 15 55
20211-52-24T M52X2 40 24 27 17 60
20211-60-28T M60X2 45 28 26 20 70
20211-64-32T Mo64X2 50 32 26 23 75

L ERRESHATRARE. 2. FEHTHESEENSHCN 20212-xx-XX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 20212-XX-XX.




B3k HOSE FITTING

45° 2 Il NIRRT
45° METRIC FEMALE FLAT SEAT

ros | omeE B AN |

AFRAAE br 5 A C H S2
20241-14-04 M14X1.5 6 04 38 8.5 19 19
20241-14-05 M14X1.5 8 05 42.7 8.5 19.3 19
20241-16-05 M16X1.5 8 05 423 8.5 20.7 22
20241-18-06 M18X1.5 10 06 455 8 22 24
20241-22-08 M22X1.5 12 08 575 10 245 27
20241-27-10T M27X1.5 16 10 58 10 245 32
20241-30-12T M30X1.5 20 12 74 11 30 36
20241-36-12T M36X2 20 12 75 13 275 41
20241-36-14T M36X2 22 14 77.3 13 27 41
20241-36-16 M36X2 25 16 85.7 13 31.5 41
20241-39-16T M39X2 25 16 82 13 30 46
20241-42-20W M42X2 32 20 95.9 15 35.2 50
20241-45-20T M45X2 32 20 94.5 15 35.5 55
20241-52-20T M52X2 32 20 94.5 17 33.8 60
20241-52-24T M52X2 40 24 105 17 38.5 60
20241-60-28T M60X2 45 28 118.7 20 43.6 70
20241-62-32T M64X2 50 32 127.8 23 45.6 75

T L ERAS T wWAEE .

2. W TS E RS 50N 20242-xx-XX o
NOTE : 1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 20242-XX-XX.

16



B3k HOSE FITTING

90~ fil] ABRELF [H
90° METRIC FEMALE FLAT SEAT

20291 20291-T
T 7 ) N— A
AFRNAE s 5 A C H S2
20291-12-02 M12X1.25 4 02 26.5 8 30.5 17
20291-12-04 M12X1.25 6 04 30 8 33.5 17
20291-14-04 M14X1.5 6 04 27.5 8.5 34 19
20291-14-05 M14X1.5 8 05 33 8.5 37 19
20291-16-04 M16X1.5 6 04 30 8 35 22
20291-16-05 M16X1.5 8 05 31 8 39.5 22
20291-16-06 M16X1.5 10 06 353 8 40.3 22
20291-18-05T M18X1.5 8 05 33 8 39 24
20291-18-06 M18X1.5 10 06 33 8 42 24
20291-22-08 M22X1.5 12 08 42.5 10 49.5 27
20291-22-10 M22X1.5 16 10 57.5 10 53 27
20291-24-08T M24X1.5 12 08 41 11 45.5 30
20291-27-04T M27X1.5 6 04 30 10 35.5 32
20291-27-08T M27X1.5 12 08 41 10 46 32
20291-27-10T M27X1.5 16 10 48.5 10 51.5 32
20291-30-12 M30X1.5 20 12 50.5 11 63.5 36
20291-33-14 M33X2 22 14 71.2 13 65 41
20291-36-14T M36X2 22 14 57.5 13 64 41
20291-36-16 M36X2 25 16 66 13 76.5 41
20291-39-16T M39X2 25 16 66 13 72.5 46
20291-42-20W M42X2 32 20 91.5 15 80.5 50
20291-45-20T M45X2 32 20 75 15 85 55
20291-52-20T M52X2 32 20 91.5 17 78.5 60
20291-52-24T M52X2 40 24 89 17 97 60
20291-60-28T M60X2 45 28 119.9 20 106.5 70
20291-64-32T M64X2 50 32 130.95 23 113.3 75
P L BRE I TRAURE . 2. Ind M T AT 5 B0 20292 xx.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 20292-XX-XX.

17



B3k HOSE FITTING

A 10411
“ﬁ@%w,—m}w
34 T T T AHISMELL 24° W HETT R RS
-l 1ISO 8434-1-DIN 3861
51 METRIC MALE 24°CONE SEAT L.T.
. X LY “ " . N ~f

%% <0 MARE | e | M T ¢ | =
10411-12-04 M12X1.5 6 04 6 22 10 12
10411-14-04 M14X1.5 6 04 8 22 10 14
10411-14-05 M14X1.5 8 05 8 22 10 14
10411-16-04 M16X1.5 6 04 10 23.5 11 17
10411-16-05 M16X1.5 8 05 10 235 11 17
10411-16-06 M16X1.5 10 06 10 23.5 11 17
10411-18-05 M18X1.5 8 05 12 24 11 19
10411-18-06 M18X1.5 10 06 12 24 11 19
10411-22-06 M22X1.5 10 06 15 26.5 12 24
10411-22-08 M22X1.5 12 08 15 27 12 24
10411-26-08 M26X1.5 12 08 18 28.5 12 27
10411-26-10 M26X1.5 16 10 18 29.5 12 27
10411-27-10 M27X1.5 16 10 18 32.5 14 30
10411-30-10 M30X2 16 10 22 33.5 14 32
10411-30-12 M30X2 20 12 22 33.5 14 32
10411-36-16 M36X2 25 16 28 36 14 38
10411-45-20 M45X2 32 20 35 40 16 46
10411-52-24 M52X2 40 24 42 43 16 55

E L ERRESHTRARE. 2. FEHTHESTENRSHCN 10412-xx-xX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 10412-XX-XX.




A3k HOSE FITTING

==

WMM

ISO 2151-2-DIN 3865

METRIC FEMALE 24° CONE O-RING L.T.

NEINIREL 24°HE O LRI AR5

20411 20411-T
\ ‘ @ - T

(S WAE  Cme] me | | ORE T T
20411-12-04 M12X1.5 6 04 6 004.5X1.5 25 1 17
20411-14-04 M14X1.5 6 04 8 006.5X1.5 26.5 2 19
20411-14-06 M14X1.5 10 06 006.5X1.5 27.5 2 19
20411-16-04 M16X1.5 6 04 10 008.0X1.5 27 2 22
20411-16-05 M16X1.5 8 05 10 008.0X1.5 27 2 22
20411-16-06 M16X1.5 10 06 10 008.0X1.5 28 2 22
20411-18-05T M18X1.5 8 05 12 010.0X1.5 25.5 1.5 22
20411-18-06 M18X1.5 10 06 12 010.0X1.5 29 2.5 24
20411-18-08 MI18X1.5 12 08 12 010.0X1.5 29.5 2.5 24
20411-22-05T M22X1.5 8 05 15 012.0X2 26.5 3 27
20411-22-06T M22X1.5 10 06 15 012.0X2 28.5 27
20411-22-08 M22X1.5 12 08 15 012.0X2 32.5 2.5 27
20411-26-10 M26X1.5 16 10 18 015.0X2 34.5 2.5 32
20411-26-12 M26X1.5 20 12 18 015.0X2 34.5 2.5 32
20411-30-10T M30X2 16 10 22 020.0X2 33 3.8 36
20411-30-12 M30X2 20 12 22 020.0X2 36.5 4 36
20411-36-12T M36X2 20 12 28 026.0X2 36 4.5 46
20411-36-14T M36X2 22 14 28 026.0X2 36.5 4.5 46
20411-45-16T M45X2 25 16 35 032.0X2 42 4 55
20411-45-20T M45X2 32 20 35 032.0X2 43 4 55
20411-52-20T M52X2 32 20 42 038.0X2 445 4 60
20411-52-24T M52X2 40 24 42 038.0X2 445 4 60

T L ERAS T wWAEE .

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

NUMBER IS 20412-XX-XX.

2. WnFE TSR EERS SN 20412-xx-xX

19



B3k HOSE FITTING

20411C  20411C-T

NFINIRSL 24°8KTH 5 &5
METRIC FEMALE MULTISEAL 24° CONE L.T.

. , L7¢ & . , IN ~F
L AL MEmE | e | M T c | =

20411C-12-04 M12X1.5 6 04 6 19.5 3.5 17
20411C-14-04 M14X1.5 6 04 8 20.5 3.5 19
20411C-16-04 M16X1.5 6 04 10 21 3.5 22
20411C-16-05 M16X1.5 8 05 10 21 35 22
20411C-16-06 M16X1.5 10 06 10 21 3.5 22
20411C-18-06 M18X1.5 10 06 12 225 3 24
20411C-22-06T M22X1.5 10 06 15 235 45 27
20411C-22-08 M22X1.5 12 08 15 24 45 27
20411C-26-10 M26X1.5 16 10 18 27 4 32
20411C-30-10T M30X2 16 10 22 26.5 7 36
20411C-30-12 M30X2 20 12 22 27 7 36
20411C-30-14 M30X2 22 14 22 27 7 36
20411C-36-16 M36X2 25 16 28 29 6.5 41
20411C-45-20T M45X2 32 20 35 33 7 55
20411C-52-24T M52X2 40 24 42 34 8 60

L ERRSHTRARE. 2. WA THESHENRS U 20412C-xx-xx.

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

NUMBER IS 20412C-XX-XX.

20



B3k HOSE FITTING

nyf.e:::::::::sr..ﬁ:wz e

" T

20441 20441-T

A5 N N BE S 2404470 TR BElE 2]
ISO 12151-2-DIN 3865
45° METRIC FEMALE 24° CONE L.T.

: ; S | s 1 R F

R B BAE o] BTAME | oM ~ Tl 1 s
20441-12-04 M14X1.5 6 04 8 006.5X1.5 45 2 26 19
20441-16-05 M16X1.5 8 05 10 008.0X1.5| 49.5 2 27.8 22
20441-16-06 M16X1.5 10 06 10 008.0X1.5 51.3 2 27.8 22
20441-18-05T M18X1.5 8 05 12 010.0X1.5 | 44.7 1.5 23.2 22
20441-18-06 M18X1.5 10 06 12 010.0X1.5 53 2.5 29 24
20441-22-05T M22X1.5 8 05 15 012.0X2 3 27
20441-22-06T M22X1.5 10 06 15 012.0X2 49 3 253 27
20441-22-08 M22X1.5 12 08 15 012.0X2 66.5 2.5 34 27
20441-26-08T M26X1.5 12 08 18 015.0X2 61 2.1 28 32
20441-26-10 M26X1.5 16 10 18 015.0X2 70 2.5 36 32
20441-26-12 M26X1.5 20 12 18 015.0X2 2.5 32
20441-30-10T M30X1.5 16 10 22 020.0X2 64 3.8 30 36
20441-30-12 M30X1.5 20 12 22 020.0X2 84.5 4 40.5 36
20441-36-12T M36X1.5 20 12 28 028.0X2 79.3 4.5 35.5 46
20441-36-14T M36X2 22 14 28 028.0X2 4.5 46
20441-45-20T M45X2 32 20 35 035.0X2 101.8 4 42 .4 55
20441-52-20T M52X2 32 20 42 042.0X2 4 46.6 60
20441-52-24T M52X2 40 24 42 042.0X2 113 4 60

L ERREHTRAKE. 2. MFEHTHESETERSECN 20412-xx-XX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20412-XX-XX.

21




B3k HOSE FITTING

20491-T

90° I N HESL 24°4EH70 TR R 2]
ISO 12151-2-DIN 3865
90° METRIC FEMALE 24° CONE O-RING

Paran )

]on | omeE P;Z T | onE [ = :If -
20491-12-03 M12X1.5 5 03 6 004.5X1.5 25.6 1 34.5 17
20491-12-04 M12X1.5 6 04 004.5X1.5 27.5 1 43 17
20491-14-04 M14X1.5 6 04 8 006.5X1.5 27.5 2 445 19
20491-16-04 M16X1.5 6 04 10 008.0X1.5 27.5 2 45 22
20491-16-05 M16X1.5 8 05 10 008.0X1.5 31 2 49.5 22
20491-16-06 M16X1.5 10 06 10 008.0X1.5 33 2 50.5 22
20491-18-05T M18X1.5 8 05 12 010.0X1.5 31 1.5 43 22
20491-18-06 M18X1.5 10 06 12 010.0X1.5 33 2.5 52.5 24
20491-22-06T M22X1.5 10 06 15 012.0X2.0 33 3 47 27
20491-22-08 M22X1.5 12 08 15 012.0X2.0 42.5 2.5 62.5 27
20491-26-08T M26X1.5 12 08 18 015.0X2.0 42.5 2.1 54.5 32
20491-26-10 M26X1.5 16 10 18 015.0X2.0 48.5 2.5 68 32
20491-26-12 M26X1.5 20 12 18 015.0X2.0 50.5 2.5 76 32
20491-30-10T M30X2 16 10 22 020.0X2.0 48.5 3.8 59.5 36
20491-30-12 M30X2 20 12 22 020.0X2.0 50.5 4 78 36
20491-36-12T M36X2 20 12 28 026.0X2.0 50.5 4.5 71 46
20491-36-14T M36X2 22 14 28 026.0X2.0 4.5 46
20491-45-16T M45X2 25 16 35 032.0X2.5 66 4 83 55
20491-45-20T M45X2 32 20 35 032.0X2.5 75 4 95 55
20491-52-20T M52X2 32 20 42 038.0X2.5 75 4 96.5 60
20491-52-24T M52X2 40 24 42 038.0X2.5 89 4 108.5 60

L ERREHTRAHE. 2. WFEHTHESYENTHCN 204922-xx-XX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20492XX-XX.

22




B3k HOSE FITTING

20491C 20491C-T
90° Al NIRZL 24° BRI R
90°METRIC FEMALE 24° CONE
MULTISEAL L.T.
__ , L7 & e 1 R N
(A= BRZLE yTRre e EiME " c - o
20491C-14-04 M14X1.5 6 04 8 30 35 | 395 | 19
20491C-16-04 M16X1.5 6 04 10 30 3.5 40 22
20491C-16-05 M16X1.5 8 05 10 33 3.5 43 22
20491C-16-06 M16X1.5 10 06 10 3525 | 3.5 | 452 | 22
20491C-18-06 M18X1.5 10 06 12 3525 | 3 | 4725| 24
20491C-22-08 M22X1.5 12 08 15 41 45 53 27
20491C-26-10 M26X1.5 16 10 18 56.5 60 32
20491C-30-12 M30X2 20 12 22 65.5 7 385 | 36
20491C-36-12T M36X2 20 12 28 655 | 65 | 67.5 | 41
WL RIS HTRARE . 2. W TESHER S EBON 20491C-xx-xx.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 20492C-XX-XX.

23



B3k HOSE FITTING

. 10511
Qi - IAISNEBEL 24° PHET 251
g T ISO-84341—DIN 3861
= dtl_‘ METRIC MALE 24° CONE SEAT H.T.
. . L7 = . , N ~+
s WIE - Twee] w5 | DR A [ e [
10511-14-04 M14X1.5 6 04 6 24 12 14
10511-16-04 M16X1.5 6 04 8 24.5 12 17
10511-18-04 M18X1.5 6 04 10 25 12 19
10511-20-05 M20X1.5 8 05 12 26 12 22
10511-20-06 M20X1.5 10 06 12 26 12 22
10511-22-05 M22X1.5 8 05 14 28.5 14 24
10511-22-06 M22X1.5 10 06 14 28.5 14 24
10511-22-08 M22X1.5 12 08 14 29 14 24
10511-24-08 M24X1.5 12 08 16 30 14 27
10511-30-10 M30X2 16 10 20 35.5 16 32
10511-30-12 M30X2 20 12 20 35.5 16 32
10511-36-12 M36X2 20 12 25 38.5 18 38
10511-36-16 M36X2 25 16 25 40 18 38
10511-42-16 M42X2 25 16 30 43 20 46
10511-42-20 M42X2 32 20 30 44 20 46
10511-52-20 M52X2 32 20 38 48 22 55

T L EUS AT RMARE . 2. TS HE S E0N 20512-xx-xx.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 10512-XX-XX.

24



A3k HOSE FITTING

1 5]

ﬁ% - ﬁﬁf 5 AR
: : HEAR O TR E RS
FLE_”MJ“UULL ' : ‘4"” A ISO 12151-2—DIN 386

METRIC FEMALE 24° CONE

O-RING H.T.
20511 20511-T
~ S

B R ﬁ;ﬁ | B4 | O AR - R -
20511-14-04 M16X1.5 6 04 6 004.5X1.5 27.4 1.5 19
20511-16-04 M16X1.5 6 04 8 006.5X1.5 27.5 1.5 | 22
20511-16-05 M16X1.5 8 05 8 006.5X1.5 27.5 1.5 22
20511-18-04T M18X1.5 6 04 10 008.0X1.5 26 1.5 | 22
20511-18-06 M18X1.5 10 06 10 008.0X1.5 29.5 2 24
20511-20-06T M20X1.5 10 06 12 010.0X1.5 27.5 25 | 24
20511-20-08 M20X1.5 12 08 12 010.0X1.5 31.5 25 | 27
20511-22-06T M22X1.5 10 06 14 011.0X2.0 28.5 3 27
20511-22-08 M22X1.5 12 08 14 011.0X2.0 32.5 2.5 27
20511-24-06T M24X1.5 10 06 16 013.0X2.0 27 3 30
20511-24-08T M24X1.5 12 08 16 013.0X2.0 30 3 30
20511-30-10T M30X2 16 10 20 016.3X2.4 33.5 2.5 36
20511-30-12 M30X2 20 12 20 016.3X2.4 37 3 36
20511-36-12T M36X2 20 12 25 020.3X2.4 37 3.2 46
20511-36-14T M36X2 22 14 25 020.3X2.4 37 3.2 46
20511-42-12T M42X2 20 12 30 025.3X2.4 37.5 3.9 50
20511-42-16T M42X2 25 16 30 025.3X2.4 41 39 50
20511-52-20T M52X2 32 20 38 033.3X2.4 44 4.5 60
20511-52-24T M52X2 40 24 38 033.3X2.4 44 4.5 60

L ERRESHTRARE. 2. MFEHTHESEEESECN 20512-xx-XX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER 1S20512-XX-XX.




B3k HOSE FITTING

20511C  20511C-T

Il RS 24° BRI E R FIMETRIC

FEMALE 24° MULTISEAL H.T.

. . ‘ LN " . , N il
= BRACE AR b= ETHME " c o
20511C-18-04T M18X1.5 6 04 10 21 3 22
20511C-20-05T M20X1.5 8 05 12 21.5 4.5 24
20511C-20-06T M20X1.5 10 06 12 21.5 4.5 24
20511C-22-06T M22X1.5 10 06 14 21.5 4.5 27
20511C-24-08T M24X1.5 12 08 16 23 5 30
20511C-30-10T M30X2 16 10 20 26.5 7 36
20511C-36-12T M36X2 20 12 25 27 6.5 41
20511C-42-16T M42X2 25 16 30 29.5 9 50
20511C-52-20T M52X2 32 20 38 34 8 60

E L BRI HTFRAKE. 2. FHTHSEHREN S BN 20512C-xx-xX .
NOTE : 1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER 1S20512C-XX-XX.

26



A3k HOSE FITTING

45°

Il AIREL

24° #EH0 KB HE £ )

ISO 12151-2-DIN

45°METRIC FEMALE
24°CONE O-RING H.T.
20541
. , L7 & . , IN ~f

o5 | B TR e | D] OB e T s
20541-14-04 | M16X1.5 6 04 6 004.5X1.5 | 46 1.5 27 19
20541-16-04 | M16X1.5 6 04 8 006.5X1.5 | 46 1.5 27 22
20541-16-05 | M16X1.5 8 05 006.5X1.5 | 495 | 15 | 281 | 22
20541-18-04T | MI18X1.5 6 04 10 008.0X1.5 | 415 | 15 | 225 | 22
20541-18-06 | M18X1.5 10 06 10 008.0X1.5 | 53 2 295 | 24
20541-20-06T | M20X1.5 10 06 12 010.0X1.5 | 485 | 25 25 24
20541-20-08 | M20X1.5 12 08 12 010.0X1.5 | 659 | 25 33 27
20541-22-06T | M22X1.5 10 06 14 011.0X2.0 | 489 3 253 | 27
20541-22-08 | M22X1.5 12 08 14 011.0X2.0 | 665 | 2.5 34 27
20541-24-08T | M24X1.5 12 08 16 013.0X2.0 | 61.3 3 285 | 30
20541-30-10T | M30X2 16 10 20 0163X2.4 | 645 | 25 | 308 | 36
20541-30-12 M30X2 20 12 20 016.3X2.4 | 845 3 41 36
20541-36-12T |  M36X2 20 12 25 020.3X2.4 | 80 3.2 36 46
20541-36-14T |  M36X2 22 14 25 020.3X2.4 3.2 46
20541-42-16T | M42X2 25 16 30 0253X2.4 | 894 | 39 | 375 | 50
20541-52-20T | MS52X2 32 20 38 033.3X2.4 | 102 | 45 | 428 | 60
20541-52-24T |  MS52X2 40 24 38 033.3X2.4 4.5 60
WL ERRSHPRARE. 2. WFHHTESEE RS SO 20542-xx-xx.

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

NUMBER [520542-XX-XX.

27



B3k HOSE FITTING

20541C 20541C-T

45° NEIN RS 24° R 2 5DIN3S6S
45° METRIC FEMALE 24° MULTISEAL H.T.

. ‘ L7 =i . , R -
s | BEE e me |k A c | | s

20541C-16-04 | MI16X1.5 6 04 8 448 | 3 | 227 | 19
20541C-18-04T | MI18X1.5 6 04 10 437 | 3 | 216 | 22
20541C-20-06T | M20X1.5 10 06 12 489 | 45 | 246 | 24
20541C-24-08T | M24X1.5 12 08 16 614 | 25 | 265 | 30
H L ERRSHPRATRE. 2. WA TESHERS BON 20542Cxx-xx.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER 1S20542C-XX-XX.

28



B3k HOSE FITTING

90°METRIC FEMALE 24°CONE

90°

I il ATBREL

24° #ET0 R E R
ISO 12151-2-DIN 3865

O-RING H.T.
20591-T
L7 & IN ~f
(A= IRLLE ARNE | W 5 EFHME OJEE | A C H S
2

20591-14-04 M16X1.5 6 04 6 004.5X1.5 | 275 | 1.5 | 454 | 19
20591-16-04 M16X1.5 6 04 8 006.5X1.5 | 275 | 1.5 | 455 | 22
20591-16-05 M16X1.5 8 05 006.5X1.5 | 31 | 15| 50 | 22
20591-18-05T M18X1.5 8 05 10 008.0X1.5 | 31 | 15| 435 | 22
20591-18-06 M18X1.5 10 06 10 008.0X1.5 | 33 2 53 | 24
20591-20-06T M20X1.5 10 06 12 010.0X1.5 | 33 | 25| 465 | 24
20591-20-08 M20X1.5 12 08 12 010.0X1.5 | 425 | 25| 61.5 | 27
20591-22-06T M22X1.5 10 06 14 011.0X2.0 | 33 3| 47 | 27
20591-22-08 M22X1.5 12 08 14 011.0X2.0 | 425 | 25| 62.5 | 27
20591-24-08T M24X1.5 12 08 16 013.0X2.0 | 425 | 3| 55 | 30
20591-24-10 M24X1.5 16 10 16 013.0X2.0 | 485 | 25| 68 | 30
20591-30-10T M30X2 16 10 20 016.3X2.4 | 485 | 25| 60.5 | 36
20591-30-12 M30X2 20 12 20 0163X2.4 | 505 | 3 | 785 | 36
20591-36-12T M36X2 20 12 25 020.3X2.4 | 505 | 32| 72 | 46
20591-36-14T M36X2 22 14 25 0203X2.4 | 575 | 32| 74 | 46
20591-42-16T M42X2 25 16 30 0253X24 | 66 | 39| 8 | 50
20591-52-20T M52X2 32 20 38 0333X24 | 75 | 45| 955 | 60
20591-52-24T M52X2 40 24 38 0333X24 | 93 | 45| 1075 | 60

NE G B wb Y Avi= ) E R AR 7

o

2. TS ERS SN 20592-xx-XX -
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20592-XX-XX.

29




B3k HOSE FITTING

20591C 20591C-T
90° A NERSL 24° B[ EH R
90° METRIC FEMALE 24° MULTISEAL H.T.
~ ‘ " " s 1 R

o= | BEE e e | A Jc | H [
20591C-16-04 M16X1.5 6 04 8 30 40 22
20591C-18-04T M18X1.5 6 04 10 30 38.5 22
20591C-20-05T M20X1.5 8 05 12 33 4.5 42 24
20591C-20-06T M20X1.5 10 06 12 353 4.5 45.7 24
20591C-22-06T M22X1.5 10 06 14 35.3 4.5 447 27
20591C-24-08T M24X1.5 12 08 16 41 5 52 30
20591C-30-10T M30X2 16 10 20 56.5 7 56.5 36
20591C-36-12T M36X2 20 12 25 65.5 6.5 66.5 41
20591C-42-16T M42X2 25 16 30 78 9 73.5 50
20591C-52-20T M52X2 32 20 38 93 8 87.5 60

1L ERACS T mAVRE

2. WA TS E RS 0N 20592C-xx-XXo
NOTE : 1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER 1S20592C-XX-XX.

30



B3k HOSE FITTING

b
c 10611
- N B AHIIMBLE 60° Py HETT N T
Els I FH 20 & 3 1 0P 432 3K
METRIC MALE DOUBLE USE FOR 60°

=B goE o R0
NFRNAE by = A C S1

10611-14-04 M14X1.5 6 04 23.5 11 19
10611-14-06 M14X1.5 10 06 25 11 19
10611-16-04 M16X1.5 6 04 27.5 12 22
10611-16-05 M16X1.5 05 27.5 12 22
10611-18-06 M18X1.5 10 06 29.5 12 24
10611-22-06 M22X1.5 10 06 30.5 14 27
10611-22-08 M22X1.5 12 08 31 14 27
10611-24-10 M24X1.5 16 10 35 14 30
10611-26-10 M26X1.5 16 10 35 16 32
10611-27-10D M27X1.5 16 10 35 16 32
10611-27-10 M27X1.5 16 10 37 18 32
10611-30-12D M30X2 20 12 38 18 36
10611-30-12 M30X2 20 12 38 18 36
10611-33-16 M33X2 25 16 43 20 46
10611-42-20 M42X2 32 20 46 20 50
10611-45-20 M45X2 32 20 46 20 55
10611-48-24 M48X2 40 24 46 20 55
10611-52-24 M52X2 40 24 46 20 60

1L ERACS H T mMAVRE -

SERIES NUMBER IS 10612-XX-XX.

2. WA TS E RS EON 10612Xx-XX o
NOTE : 1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS

31



B3k HOSE FITTING

A T

B i
NSRS 60°

Ef?“h__wﬁwuuuuu_ -
e e METRIC FEMALE 60°CONE

20611 20611-T
- goE B A
ARAE | 5 A C S2
20611-14-04 M14X1.5 6 04 19 5.5 19
20611-16-05 M16X1.5 8 05 195 | 5.5 22
20611-16-06 M16X1.5 10 06 19 5.5 22
20611-18-06 M18X1.5 10 06 21 5.5 24
20611-20-08 M20X1.5 12 08 22 6.5 27
20611-22-08 M22X1.5 12 08 235 6 27
20611-24-10 M24X1.5 16 10 245 | 65 | 30
20611-26-10 M26X1.5 16 10 25 6 32
20611-27-10DT M27X1.5 16 10 25.5 6 32
20611-27-10T M27X1.5 16 10 25.5 6 32
20611-30-10D M30X2 16 10 26.5 6 36
20611-30-12D M30X2 20 12 26.5 6 36
20611-30-12 M30X2 20 12 27 6 36
20611-36-16 M36X2 25 16 30 6.5 41
20611-39-16T M39X2 25 16 30 6.5 46
20611-45-20T M45X2 32 20 31 8.5 55
20611-52-24T M52X2 40 24 32 10 60

L ERRESHTRARE. 2. FEHTHESHTERSECN 20612-xx-XX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER 1S20612-XX-XX.

32



B3k HOSE FITTING

90° Il Zh RS 60° AMETH
90°METRIC FEMALE 60°CONE

20691 20691-T
go= R . S AN |
AERNRE | 5 A C H S2
20611-14-04 M14X1.5 6 04 275 | 55 37 19
20611-16-05 M16X1.5 8 05 31 5.5 42 22
20611-18-06 M18X1.5 10 06 33 55 | 445 | 24
20611-22-08 M22X1.5 12 08 4.5 6 53.5 | 27
20611-27-10DT M27X1.5 16 10 56 6 55 32
20611-30-12D M30X2 20 12 66.2 6 68.5 | 36
20611-36-16 M36X2 25 16 78 65 | 765 | 41
20611-36-14T M36X2 22 14 712 | 65 | 675 | 41
20611-39-16T M39X2 25 16 76.7 | 6.5 74 46
20611-45-20T M45X2 32 20 915 | 85 85 55
20611-52-24T M52X2 40 24 1094 | 10 99 60
H L EIRRSHTRSRE . 2. W H T HSHER SO 20692-xx-xX
NOTE : 1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER [S20692-XX-XX.




B3k HOSE FITTING

A

i

Rl

10711

B R A B SR 747 SMEIH

51 METRIC MALE 74°CONE
L. ‘ # & R ~F
(=) IRAE e —

NENRE | W 5 A C S1

10711-10-02 MI10X1 4 02 23 12.5 14
10711-10-03 MI10X1 5 03 23 12.5 14
10711-12-03 MI12X1.5 5 03 26.5 15.7 14
10711-12-03C M12X1.25 5 03 24.5 14 14
10711-14-04 M14X1.5 6 04 30.5 18 17
10711-14-06 M14X1.5 10 06 30.5 18 17
10711-16-05 M16X1.5 8 05 31.5 19 17
10711-16-06 M16X1.5 10 06 31.5 19 17
10711-18-06 M18X1.5 10 06 32 19 19
10711-22-08 M22X1.5 12 08 34.5 19.5 24
10711-24-08 M24X1.5 12 08 36.5 20 27
10711-27-10 M27X1.5 16 10 39 20.5 30
10711-30-12 M30X2 20 12 42.5 23 32
10711-30-12E M30X2 20 12 45.5 26 32
10711-33-12 M33X2 20 12 46.5 26 36
10711-36-14 M36X2 22 14 47 26 38
10711-39-16 M39X2 25 16 50 27.5 41
10711-42-20 M42X2 32 20 52.5 28.5 46
10711-45-20 M45X2 32 20 52.5 28.5 46

T L EUS AT RMARE. 2. AT ESHE S EON 10712-xx-xx.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS10712-XX-XX.

34



i’x Y473 HOSE FITTING

; Pt [E B A B N IR 74° PIHE

ﬁ""‘"" A ez METRIC FEMALE 74°CONE SEAT

:

20711 20711-T
f = e . | S - R o
NN br = A C S2
20711-10-02 M10X1 4 02 14 75 14
20711-12-03C M12X1.25 5 03 14 9 17
20711-12-03 MI12X1.5 5 03 14 10 17
20711-12-04 MI12X1.5 6 04 15 10 17
20711-14-04 M14X1.5 6 04 16 8.5 19
20711-14-05 M14X1.5 8 05 155 | 8.5 19
20711-14-06 M14X1.5 10 06 155 | 85 19
20711-16-04 M16X1.5 6 04 16.5 8 22
20711-16-05 M16X1.5 8 05 17 8 22
20711-16-06 M16X1.5 10 06 16 8 22
20711-18-05T M18X1.5 8 05 16 8 22
20711-18-06 MI18X1.5 10 06 18.5 10 24
20711-20-06T M20X1.5 10 06 16 10 24
20711-20-08 M20X1.5 12 08 18.5 10 27
20711-22-06T M22X1.5 10 06 16 10 27
20711-22-08 M22X1.5 12 08 19.5 10 27
20711-22-10 M22X1.5 16 10 19 10 27
20711-24-08T M24X1.5 12 08 16.5 11 30
20711-27-08T M27X1.5 12 08 18.5 11 32
20711-27-10T M27X1.5 16 10 21 11 32
20711-27-12 M27X1.5 20 12 21.5 11 32
20711-30-10T M30X1.5 16 10 18 11 36
20711-30-12 M30X1.5 20 12 22 11 36
20711-33-10T M33X2 16 10 19.5 13 41
20711-33-12T M33X2 20 12 20 13 41
20711-33-14 M33X2 22 14 21.5 13 41
20711-36-12T M36X2 20 12 20 14 41
20711-36-14T M36X2 22 14 24 14 41
20711-36-16 M36X2 25 16 23 14 41
20711-39-16T M39X2 25 16 25 14 46
20711-42-16T M42X2 25 16 23.5 15 50
20711-42-20W M42X2 32 20 24.5 15 50
20711-45-20T M45X2 32 20 27 15 55
20711-52-24T M52X2 40 24 27 17 60
L ERRESHTRAKE. 2. W HTHESTERS SO 20712-xx-xx.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 20712-XX-XX.




B3k HOSE FITTING

20741

45° [EPFRAHINERS 74° PNHET
45°METRIC FEMALE 74°CONE SEAT

L7 = N o
(I = YRELE NFEN IR A C H S2
&

20741-14-04 M14X1.5 6 04 38 8.5 19 19
20741-16-05 M16X1.5 8 05 423 8 20.7 22
20741-18-06 M18X1.5 10 06 45.5 10 22 24
20741-22-08 M22X1.5 12 08 57.5 10 24.5 27
20741-27-10 M27X1.5 16 10 60 11 26.5 32
20741-30-12 M30X1.5 20 12 74 11 30 36
20741-33-12 M33X2 20 12 77.4 13 30 41
20741-33-16 M33X2 25 16 85 13 30.8 41
20741-36-14 M36X2 22 14 79.8 14 29.6 4
20741-36-16 M36X2 25 16 85.7 14 31.5 41
20741-39-16 M39X2 25 16 &5 14 33 46
20741-45-20W M45X2 32 20 97 15 36.2 55
20741-52-24W M52X2 40 24 115.3 17 40.9 60

T L EUS AT RMAE . 2. TS HE S E0N 20742-xx-xx.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20742-XX-XX.

36



B3k HOSE FITTING

90° [EPFRAHINIEZ 74° NHETH

20791

90°METRIC FEMALE 74°CONE SEAT

w = R ~
£ 5 IRAE AR ¥r = A C H S2
17
20791-12-04C M12X1.25 6 04 30 9 33.5 17
20791-12-04 MI12X1.5 6 04 30 10 33.5 17
20791-14-04 M14X1.5 6 04 27.5 8.5 34 19
20791-16-04 M16X1.5 6 04 30 8 35 22
20791-16-05 M16X1.5 8 05 31 8 39.5 22
20791-18-06 M18X1.5 10 06 33 10 42 24
20791-22-08 M22X1.5 12 08 425 10 49.5 27
20791-22-10 M22X1.5 16 10 56 10 52.5 27
20791-27-10 M27X1.5 16 10 48.5 11 54.5 32
20791-30-12 M30X1.5 20 12 50.5 11 63.5 36
20791-33-12 M33X2 20 12 65.5 13 63.5 41
20791-33-16 M33X2 25 16 66 13 75.5 41
20791-36-12 M36X2 20 12 65.5 124 63.5 41
20791-36-14 M36X2 22 14 71.2 14 64.5 41
20791-39-16 M39X2 25 16 66 14 76.5 46
20791-45-20W M45X2 32 20 91.5 15 83 55
20791-52-20W M52X2 32 20 93 17 84.5 60
20791-52-24W M52X1.5 40 24 110.7 17 96.5 60
H L ERRESHTREAHE. 2. MFHHTHSEHENS BN 20792-xx-xX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20792-XX-XX.

37



B3k HOSE FITTING

.

i

A %m

NHISMESC 90° HMETH

10811L

04 [
METRIC MALE 90°CONE
T $BALE B R ¥

AR R br = A C H S2
10811L-12-04 M12X1.5 6 04 46 34 17 17
10811L-12-04A M12X1 6 04 445 32.5 17 17
10811L-14-04 M14X1.5 6 04 46 34 17 19
10811L-14-06 M14X1.5 10 06 46.5 34 17 19
10811L-16-04 M16X1.5 6 04 46.5 34 19 22
10811L-16-06 M16X1.5 10 06 46.5 34 22 22
10811L-20-06 M20X1.5 10 06 57 40 27 27
10811L-20-08 M20X1.5 12 08 57.5 40 27 27
10811L-22-08 M22X1.5 12 08 62.5 45 27 27

38



B3k HOSE FITTING

"‘f h = —— {ﬂlﬁﬁﬂﬁm
SL S =~

O] A BRECER T

METRIC FEMALE MULTISEAL

20111 20111-T

e N
KB BUE S S - |
NFENZ bR 5 A C S2

20111-10-03 M10X1 5 03 18 2.5 14
20111-10-04 MI10X1 6 04 18 2.5 14
20111-12-04 M12X1.5 6 04 18.5 4 17
20111-12-05 M12X1.5 8 05 18.5 4 17
20111-14-04 M14X1.5 6 04 20 4.5 19
20111-14-05 M14X1.5 8 05 19.5 4.5 19
20111-16-04 M16X1.5 6 04 20.5 4.5 22
20111-16-05 M16X1.5 8 05 20.5 4.5 22
20111-16-06 M16X1.5 10 06 20 4.5 22
20111-18-05T M18X1.5 8 05 21.5 4 24
20111-18-06 MI18X1.5 10 06 22.5 4 24
20111-18-08 M18X1.5 12 08 22 4 24
20111-20-06T M20X1.5 10 06 23.5 5.5 24
20111-20-08 M20X1.5 12 08 23 5.5 27
20111-22-06T M22X1.5 10 06 23 5 27
20111-22-08 M22X1.5 12 08 24.5 5 27
20111-22-10 M22X1.5 16 10 24.5 5 27
20111-24-08T M24X1.5 12 08 22 5.5 30
20111-24-10 M24X1.5 16 10 26 5 30
20111-27-08DT M27X1.5 12 08 23 5.5 32
20111-27-10DT M27X1.5 16 10 26 5.5 32
20111-27-12D M27X1.5 20 12 26 5.5 32
20111-27-10T M27X2 16 10 26 7 32
20111-30-12D M30X1.5 20 12 26.5 6 36
20111-30-12 M30X2 20 12 26 7 36
20111-36-12T M36X2 20 12 26 7 41
20111-36-14T M36X2 22 14 26 7 41
20111-39-14T M39X2 22 14 28.5 7 46
20111-39-16T M39X2 25 16 34 7 46
20111-42-16T M42X2 25 16 30 8.5 50
20111-45-20T M45X2 32 20 31.5 8.5 55
20111-52-20T M52X2 32 20 33 9 60
20111-52-24T M52X2 40 24 33 9 60
20111-64-32T M64X2 50 32 35 14 75

L ERREHTRARE. 2. FEHTHESEERSECN 20112-xx-xXX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 20112-XX-XX.

39



B3k HOSE FITTING

45° il A BREUERIH

45° METRIC FEMALE MULTISEAL

20141-T
T WBALE S S - R ¥

NRNAE B 5 A C H S2
20141-10-03 M10X1 5 03 411 | 25 | 207 | 14
20141-10-04 M10X1 6 04 432 | 25 | 215 | 14
20141-12-03 M12X1.5 5 03 40.9 4 212 | 17
20141-12-04 M12X1.5 9 04 43 4 22 17
20141-14-04 M14X1.5 6 04 434 | 45 | 213 | 19
20141-14-05 M14X1.5 8 05 455 | 45 | 222 | 19
20141-16-04 M16X1.5 6 04 447 | 45 | 232 | 22
20141-16-05 M16X1.5 8 05 458 | 45 | 225 | 22
20141-16-06 M16X1.5 10 06 474 | 45 | 241 | 22
20141-18-05T M18X1.5 8 05 46.8 4 226 | 24
20141-18-06 M18X1.5 10 06 48.5 4 242 | 24
20141-18-08 M18X1.5 12 08 522 4 257 | 24
20141-20-06T M20X1.5 10 06 482 | 55 | 239 | 27
20141-20-08 M20X1.5 12 08 62.1 | 55 | 272 | 27
20141-22-06T M22X1.5 10 06 58.4 5 257 | 27
20141-22-08 M22X1.5 12 08 62.1 5 272 | 27
20141-24-08T M24X1.5 12 08 61.1 | 55 | 261 | 30
20141-24-10 M24X1.5 16 10 75.4 5 29.6 | 30
20141-27-10DT M27X1.5 16 10 744 | 55 | 296 | 32
20141-27-10T M27X2 16 10 744 | 55 | 296 | 32
20141-30-12D M30X1.5 20 12 80.9 6 335 | 36
20141-30-12 M30X2 20 12 80.9 6 335 | 36
20141-36-14T M36X2 22 14 83 7 | 3264 41
20141-39-16T M39X2 25 16 88.2 7 | 3395| 46
20141-45-20T M45X2 32 20 99.1 | 85 | 384 | 55
20141-52-24T M52X2 40 24 1141 9 434 | 60

e L RS TR E .

NUMBER IS 20142-XX-XX.

2. TR FHSHERS SN 20142-xx-XXo
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

40



B3k HOSE FITTING

90° il N BRSCER THI
90° METRIC FEMALE MULTISEAL

20191 20191-T
® =i R =f
= IRAE AN IR A C H S2
20191-10-03 M10X1 5 03 27 2.5 35.5 14
20191-12-04 M12X1.5 6 04 30 4 37.5 17
20191-14-04 M14X1.5 6 04 27.5 4.5 38 19
20191-14-05 M14X1.5 8 05 33 4.5 41 19
20191-16-04 M16X1.5 6 04 27.5 4.5 38.5 19
20191-16-05 M16X1.5 8 05 31 4.5 43 22
20191-16-06 M16X1.5 10 06 353 4.5 43.8 22
20191-18-05T M18X1.5 8 05 31 4 43 24
20191-18-06 M18X1.5 10 06 353 4 45.3 24
20191-18-08 M18X1.5 12 08 40.5 4 50.5 24
20191-20-06T M20X1.5 10 06 353 5.5 43.8 24
20191-20-08 M20X1.5 12 08 41 5.5 52 27
20191-22-06T M22X1.5 10 06 35.8 5 76.8 27
20191-22-08 M22X1.5 12 08 42.5 5 54.5 27
20191-24-08T M24X1.5 12 08 41 5.5 51 30
20191-24-10 M24X1.5 16 10 58 5 58.5 30
20191-27-10DT M27X1.5 16 10 56 5.5 55.5 32
20191-27-10T M27X2 16 10 56 5.5 55.5 32
20191-30-12D M30X1.5 20 12 67.5 6 68.5 36
20191-30-12 M30X2 20 12 67.5 6 68.5 36
20191-36-12T M36X2 20 12 65.5 7 68 41
20191-36-14T M36X2 22 14 71.2 7 69 4
20191-39-16T M39X2 25 16 76.7 7 73.5 14
20191-45-20T M45X2 32 20 91.5 8.5 85 655
20191-52-24T M52X2 40 24 109.4 9 100 60
20191-64-32T M64X2 50 32 131.75 14 122.3 75

1L ERACS T mAVE -

2. MFHH T HSHAE RS BN 20192-xx-xX.

NOTE : 1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

NUMBER IS 20192-XX-XX.

41



B3k HOSE FITTING

T 50011
—H. AlcEEE
g | | ||| I DIN2353
L =s METRIC STANDPIPE STRAIGHT
L% = R
K 5 ETHMED ANFRA bR 5 A C % E
%
50011-06-03 6 5 03 28.5 22
50011-06-04 6 6 04 29 22
50011-10-05 10 8 05 31 23
50011-10-06 10 10 06 32 23
50011-12-06 12 10 06 32.5 23
50011-12-08 12 12 08 33 23
50011-15-06 15 10 06 35.5 25
50011-15-08 15 12 08 35.5 25
50011-18-08 18 12 08 36.5 26 BRI
50011-18-10 18 16 10 41 26
50011-22-10 22 16 10 44 28
50011-22-12 22 20 12 44 28
50011-22-16 22 25 16 46 28
50011-28-16 28 25 16 47 30
50011-35-20 35 32 20 56 36
50011-42-24 42 40 24 62 40
50011-08-04 8 6 04 31 24
50011-08-05 8 8 05 33 24
50011-08-06 8 10 06 33 24
50011-10-04 10 6 04 33 26
50011-12-04 12 6 04 34.5 26
50011-12-05 12 8 05 35.5 26
50011-14-06 14 10 06 39.5 29
50011-14-08 14 12 08 40 29
50011-14-12 14 20 12 45.5 29
50011-16-08 16 12 08 40.5 30 HRY
50011-16-10 16 16 10 45.5 30
50011-20-10 20 16 10 52 36
50011-20-12 20 20 12 52.5 36
50011-25-12 25 20 12 56 40
50011-25-16 25 25 16 57 40
50011-30-16 30 25 16 63 44
50011-30-20 30 32 20 64 44
50011-38-16 38 25 16 69 50
50011-38-20 38 32 20 70 50
L ERRESHTRAKRE. 2. W HTESTERS SN 50012-xx-xx.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER IS 50012-XX-XX.

42



B3k HOSE FITTING

50091
90° Al RENXEE
90° METRIC STANDPIPE STRAIGHT
DIN2353
e - ' R o

e s RIMED T e W 5 A c H &
50091-06-03 6 5 03 26.5 22 42.5
50091-06-04 6 6 04 30 22 45.5
50091-08-05 8 8 05 33 24 50.5
50091-08-06 8 10 06 353 24 52.8
50091-10-05 10 8 05 33 23 49.5
50091-10-06 10 10 06 35.3 23 51.8
50091-12-06 12 10 06 35.36 23 53.8
50091-12-08 12 12 08 41 23 59
50091-15-06 15 10 06 353 25 53.8 2% 25
50091-15-08 15 12 08 41 25 59
50091-18-08 18 12 08 41 26 60
50091-18-10 18 16 10 56.5 26 64.5
50091-22-10 22 16 10 56.5 28 66.5
50091-22-12 22 20 12 65.5 28 76
50091-22-16 22 25 16 76.7 28 81.5
50091-28-16 28 25 16 76.7 30 83.5
50091-35-20 35 32 20 93 36 100.5
50091-08-04 8 6 04 30 24 47.5
50091-10-04 10 6 04 30 26 49.5
50091-12-04 12 6 04 30 26 49.5
50091-12-05 12 8 05 33 26 52.5
50091-14-06 14 10 06 35.3 29 57.8
50091-14-08 14 12 08 41 29 63
50091-16-08 16 12 08 41 30 64
50091-16-10 16 16 10 56.5 30 68.5
50091-20-10 20 16 10 56.5 36 74.5 255
50091-20-12 20 20 12 65.5 36 85
50091-25-12 25 20 12 65.5 40 89
50091-25-16 25 25 16 76.7 40 93.5
50091-30-16 30 25 16 76.7 40 93.5
50091-30-20 30 32 20 91.5 44 108.5
50091-38-16 38 25 16 76.7 50 115.5
50091-38-20 38 32 20 91.5 50 114.5

L EIRACS T i .
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES
NUMBER 1850092-XX-XX.

2. TR F RS E RS SN 50092-xx-XXo

43



B3k HOSE FITTING

= 51011

I | [T Rl R R
s Iﬁé@. A

BSP STANDARD PIPE

D e T R F
R 5 & T-4MED e ) " c
51011-04-03 4 5 27 17
51011-06-03 6 5 30.5 19
51011-06-04 6 6 31 19
51011-08-04 8 6 31 19
51011-08-05 8 8 31.5 19
51011-08-06 8 10 32 19
51011-10-04 10 6 35 22
51011-10-05 10 8 35 22
51011-10-06 10 10 35 22
51011-12-05 12 8 35 22
51011-12-06 12 10 35 22
51011-14-06 14 10 35 22
51011-14-08 14 12 35.5 22
51011-16-06 16 10 35 22
51011-16-08 16 12 36 22
51011-16-10 16 16 36.5 22
51011-16-12 16 20 38 22
51011-18-12 18 20 41.5 24
51011-22-12 22 20 45 28
51011-22-14 22 22 45 28
51011-28-16 28 25 49 30
51011-34-20 34 32 53 33
51011-42-24 42 40 57 35

T L ERUS AT RMAE. 2. fHHTESHE S EON 51012-xx-xx.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS51012-XX-XX.




B3k HOSE FITTING

51091

90° HEprkEXEE

90°BSP STANDARD PIPE

B grsED T R _ ¥

AFRNAE bR = A C H
51091-06-04 6 6 04 30.5 19 42.5
51091-06-06 6 10 06 353 19 47.8
51091-08-04 8 6 04 30 19 42.5
51091-08-05 8 8 05 33 19 45.5
51091-10-04 10 6 04 30 22 455
51091-10-06 10 10 06 35.8 22 50.8
51091-12-06 12 10 06 353 22 50.8
51091-12-08 12 12 08 41 22 56
51091-14-06 14 10 06 353 22 50.8
51091-14-08 14 12 08 41 22 56
51091-15-10 15 16 10 56.5 26 64.5
51091-16-08 16 12 08 42 22 56
51091-16-10 16 16 10 56.5 22 60.5
51091-18-10 18 16 10 56.5 24 62.5
51091-18-12 18 20 12 64.9 24 72
51091-22-14 22 22 14 71.2 28 77
51091-28-16 28 25 16 76.7 30 83.5
51091-34-20 34 32 20 91.5 33 97.5
51091-42-24 42 40 24 109.4 35 113

L ERRESHTRARE. 2. FEHTHESEEERSECN 51092-xx-XX.

NOTE : 1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS

SERIES NUMBER IS 51092-XX-XX.

45



B3k HOSE FITTING

C
¥,
NL
LA = NS
: RETAINING NUT L.T.
RERL
T A BT R ~F & F155 4%
C D S2 MPa

NL-12 MI12X1.5 14.5 14

NL-14 M14X1.5 14.5 17

NL-16 M16X1.5 10 15.5 10 19

NL-18 M18X1.5 12 15.5 12 22

NL-22 M22X1.5 15 17 15 27

NL-26 M26X1.5 18 18 18 32 i 251
NL-30 M30X2 22 20 22 36 -
NL-30D M30X1.5 22 19 22 36 L
NL-36 M36X2 28 21 28 41

NL-36D M36X1.5 28 21 28 41

NL-45 M45X2 35 24 35 50

NL-45D M45X1.5 35 25 35 50

NL-52 M52X2 42 24 42 60

NS-14 M14X1.5 16.5 17

NS-16 M16X1.5 16.5 19

NS-18 MI18X1.5 10 17.5 10 22

NS-20 M20X1.5 12 17.5 12 24

NS-22 M22X1.5 14 20.5 14 27 HRY
NS-24 M24X1.5 16 20.5 16 30 S
NS-30 M30X2 20 24 20 36

NS-36 M36X2 25 27 25 46

NS-42 M42X2 30 29 30 50

NS-52 M52X2 38 325 38 60

46



B3k HOSE FITTING

12211
BSP MALE O-RING SEAL

SR SNBLLO Tt

A
C
2 D

1 .

o o W , R
(S BIMED e | e OV A c |«
12211-04-04 G1/47X19 6 04 24 11 19
12211-04-06 G1/47X19 10 06 23.5 11 19
12211-06-06 G3/87X19 10 06 26 12 22
12211-08-04 G1/2”X14 6 04 33.5 14 27
12211-08-06 G1/27X14 10 06 335 14 27
12211-08-08 G1/27X14 12 08 30 14 27
12211-10-10 G5/87X14 16 10 34 15.5 30
12211-12-10 G3/4°X14 16 10 35 15.5 32
12211-12-12 G3/4°X14 20 12 35 15.5 32
12211-12-16 G3/4°X14 25 16 36 15.5 32
12211-16-16 GI17X11 25 16 41 18.5 41
12211-20-20 G1.1/47X11 32 20 45 20 50

L ERREHTRARE . 2. WFHEHTESYE RSSO 12212-xx-XX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 12212-XX-XX.

47



A3k HOSE FITTING

i i 12611
e =]
' L BSP MALE 60°CONE SEAT
B AMELL 60° NAET
. . 1 WA R+
£ = B F4MED e P " c S
12611-02-03 G1/8°X28 5 03 22 10 12
12611-04-04 G1/47X19 6 04 24 12 14
12611-06-05 G3/87°X19 8 05 26 13.5 17
12611-06-06 G3/87X19 10 06 26 13.5 17
12611-06-08 G3/87°X19 12 08 26.5 13.5 19
12611-08-06 G1/27X14 10 06 30.5 16 22
12611-08-08 G1/27X14 12 08 30.5 16 22
12611-10-08 G5/87X14 12 08 32.5 17.5 24
12611-10-10 G5/87°X14 16 10 34 17.5 24
12611-12-08 G3/4°X14 12 08 35.5 18.5 27
12611-12-10 G3/47X14 16 10 37 18.5 27
12611-12-12 G3/47X14 20 12 36 18.5 27
12611-16-12 G17X11 20 12 40.5 20.5 36
12611-16-16 G17X11 25 16 42.5 20.5 36
12611-20-16 G1.1/4°X11 25 16 43.5 20.5 46
12611-20-20 G1.1/4°X11 32 20 445 20.5 46
12611-24-20 G1.1/27X11 32 20 49 23 50
12611-24-24 G1.1/27X11 40 24 49 23 50
12611-32-32 G27X11 50 32 54.5 25.5 65
E L ERARS AT RARE. 2. HEHTHESHE RSSO 12612-xx-xX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER [S12612-XX-XX.

48



B3k HOSE FITTING

12611A
FLEAMREL 60° PN HETH BN i 1]
P2 & 2 o B XU 43k

=

E L ERRESHFRAKE. 2. FHTYHSEHRENSHBON 12612A-xx-XXo
NOTE : 1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 12612A-XX-XX.

“ T BSP MALE DOUBLE USE FOR 60°CONE SEAT
OR BONDED SEAL

f & | wrsEp [ B A
AFEAAE e A C S1

12611A-02-03 G1/87X28 5 03 22 10 14
12611A-04-04 G1/4°X19 6 04 25 12 19
12611A-04-05 G3/87X19 8 05 25 12 19
12611A-06-05 G3/87X19 8 05 26 13.5 22
12611A-06-06 G3/87X19 10 06 27.5 13.5 22
12611A-06-08 G3/87X19 12 08 28.5 13.5 22
12611A-08-06 G1/27X14 10 06 33 16 27
12611A-08-08 G1/27X14 12 08 32 16 27
12611A-08-10 G1/27X14 16 10 32 16 27
12611A-10-08 G5/87X14 12 08 35 17.5 30
12611A-10-10 G5/87X14 16 10 36 17.5 30
12611A-12-08 G3/47X14 12 08 36.5 18.5 32
12611A-12-10 G3/47X14 16 10 37.5 18.5 32
12611A-12-12 G3/47X14 20 12 38 18.5 32
12611A-16-12 G17X11 20 12 42.5 20.5 41
12611A-16-16 G17X11 25 16 43 20.5 41
12611A-20-16 G1.1/47X11 25 16 45.5 20.5 50
12611A-20-20 G1.1/4°X11 32 20 45.5 20.5 50
12611A-24-24 G1.1/27X11 40 24 50 23 55
12611A-32-32 G27X11 50 32 54.5 25.5 70

49



BE

Sk HOSE FITTING

P s
| kffﬁ /}f.ﬂrﬁ il A i

A

i)

W‘%\R\
M T T T

J

o

22611 22611-T 22611-W

JUE NIRLL 60° AMHETH

BSP FEMALE 60°CONE
. o & R
(S RYMED e | kB A c | s
22611-02-03 G1/87X28 5 03 15 5.5 14
22611-02-04 G1/8°X28 6 04 17.5 5.5 14
22611-04-03 G1/47X19 5 03 17 5.5 19
22611-04-04 G1/47°X19 6 04 19 5.5 19
22611-04-05 G1/47X19 8 05 19 5.5 19
22611-04-06 G1/47°X19 10 06 19 5.5 19
22611-06-04 G3/87X19 6 04 21 6.3 22
22611-06-05 G3/87X19 8 05 21 6.3 22
22611-06-06 G3/87X19 10 06 21 6.3 22
22611-06-08 G3/87X19 12 08 21.5 6.3 22
22611-08-06T G1/27X14 10 06 21 7.5 27
22611-08-08 G1/27X14 12 08 23 7.5 27
22611-10-08 G5/87X14 12 08 23.5 9.5 30
22611-10-10 G5/87X14 16 10 24.5 9.5 30
22611-12-08T G3/47X14 12 08 22 10.9 32
22611-12-10 G3/4”X14 16 10 24.5 10.9 32
22611-12-12 G3/4”X14 20 12 24.5 10.9 32
22611-16-12T G17X11 20 12 24 11.7 41
22611-16-14 GI17X11 22 14 26 11.7 41
22611-16-16 G17X11 25 16 27.5 11.7 41
22611-20-16T G1.1/47°X11 25 16 27.5 11 50
22611-20-20W G1.1/47X11 32 20 30.5 11 50
22611-24-20T G1.1/27X11 32 20 32 13 55
22611-24-24W G1.1/27°X11 40 24 32 13 55
22611-32-24T G27X11 40 24 30 16 70
22611-32-32W G27X11 50 32 31.9 16 70

L ERAS H T gmglE .
NOTE :

SERIES NUMBER IS 22612-XX-XX.

2. WA TS E AR5 250N 22612-xX-XX o
1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS

50



B3k HOSE FITTING

L n
| )/’27'}7 i T s
%{?‘* _ I 22611D
= WA NIBLL 60° AMHETH XS F
BSP FEMALE 60°CONE DOUBLE HEXAGON
> = Paran 4 !F/X % R ﬂ‘
= BT HMED — —

NFRNE b 5 A C S1 S2
22611D-04-04 G1/47X19 6 04 245 | 5.5 19 19
22611D-06-06 G3/87X19 10 06 27 6.3 22 22
22611D-08-08 G1/2°X14 12 08 305 | 7.5 27 27
22611D-10-08 G5/87X14 12 08 31 9.5 30 30
22611D-12-08 G3/4”X14 12 08 315 | 109 | 32 32
22611D-12-12 G3/4”X14 20 12 345 | 109 | 32 32
22611D-16-16 G17X11 25 16 385 | 117 41 41
22611D-20-20W | G1.1/4”X11 32 20 44 11 50 50

L ERREHTRAME. 2. WFHEHTHESHENSHCN 22612D-Xx-XX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 22612D-XX-XX.

C A
| M i P Pl
o T 22611D-SM
— WA NIBLL 60° AMHETH XS F
BSP FEMALE 60°CONE DOUBLE HEXAGON
L4 E R )
£ = BTHIMED -
U AMAE | ko= A | c | si S2
22611D-04-04SM | G1/47X19 6 04 235 | 5.5 12 19
22611D-06-06SM | G3/8°X19 10 06 245 | 63 17 22
22611D-08-08SM | G1/2”X14 12 08 29 7.5 22 27
22611D-10-08SM | G5/8°X14 12 08 29 9.5 22 30
22611D-12-08SM | G3/4”X14 12 08 315 | 109 | 27 32
22611D-12-12SM | G3/4”X14 20 12 335 | 109 | 27 32
22611D-16-16SM G17X11 25 16 355 | 11.7] 32 41
22611D-20-20SM | G1.1/4°X11 32 20 42 11 41 50
E L ERARSHTWARE . 2. HEHTESRERSUCN 22612D-xx-xxSM.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 22612D-XX-XXSM.




B3k HOSE FITTING

22641 22641-T 22641-W
45° JEEMIREL 60° HMAETH
45°BSP FEMALE 60°CONE
& 8 | #FsED o B K Y
ARNE | b 5 A C H S2
22641-04-04 G1/47X19 6 04 40 55 | 21 19
22641-06-04 G3/87X19 6 04 432 | 6.3 21 22
22641-06-05 G3/87X19 8 05 453 | 63 22 22
22641-06-06 G3/87X19 10 06 47 6.3 24 22
22641-08-06T G1/27X14 10 06 481 | 75 | 239 | 27
22641-08-08 G1/27X14 12 08 595 | 75 27 27
22641-10-08 G5/87X14 12 08 614 | 95 | 265 | 30
22641-10-10 G5/87X14 16 10 63 9.5 29 30
22641-12-08T G3/47X14 12 08 618 | 109 | 269 | 32
22641-12-10 G3/47X14 16 10 63 | 109 | 29 32
22641-12-12 G3/47X14 20 12 755 | 109 | 32 32
22641-16-12T G17X11 20 12 80.8 | 11.7 | 33.4 | 41
22641-16-16 G17X11 25 16 86 | 11.7 | 34 41
22641-20-16T G1.1/47X11 25 16 853 | 11 | 31.1 | 50
22641-20-20W | G1.1/4”X11 32 20 98.8 | 11 38 50
22641-24-24W | G1.1/2”X11 40 24 116.8 | 13 | 455 | 55
22641-32-32W G27X11 50 32 1357 | 16 | 527 | 70
H L ERRSHTRERE . 2. FEH T HESHE RS SO 22642-xx-xx.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 22642-XX-XX.

52



B3k HOSE FITTING

22691-T 22691-W
90° A NIREL 60° AT
90°BSP FEMALE 60°CONE
f 5 |EsED B A
NFRNE b 5 A | C H S2
22691-02-03 G1/87X28 5 03 26.5 5.5 31.5 14
22691-02-04 G1/87X28 6 04 27.5 5.5 35.5 14
22691-04-03 G1/47X19 5 03 26.5 5.5 335 19
22691-04-04 G1/47X19 6 04 27.5 5.5 37 19
22691-04-05 G1/47X19 8 05 31 5.5 41.5 19
22691-04-06 G1/47X19 10 06 30 5.5 36.5 19
22691-06-04 G3/87X19 6 04 27.5 6.3 39 22
22691-06-05 G3/87X19 8 05 31 6.3 435 22
22691-06-06 G3/87X19 10 06 33 6.3 44 .5 22
22691-08-06T G1/27X14 10 06 353 7 433 27
22691-08-08 G1/27X14 12 08 42.5 7.5 53 27
22691-08-10 G1/27X14 16 10 56.5 7.5 55.5 27
22691-10-08 G5/87X14 12 08 42.5 9.5 53.5 30
22691-10-10 G5/87°X14 16 10 48.5 9.5 58 30
22691-12-08T G3/47X14 12 08 41 10.9 52.1 32
22691-12-10 G3/47X14 16 10 48.5 10.9 58 32
22691-12-12 G3/47X14 20 12 50.5 10.9 66 32
22691-16-12T G17X11 20 12 65.5 11.7 68.3 41
22691-16-14 G17X11 22 14 71.2 11.7 69.3 41
22691-16-16 G17X11 25 16 66 11.7 78.5 41
22691-20-16T G1.1/47X11 25 16 78 11 69.5 50
22691-20-20W G1.1/47X11 32 20 91.5 11 84.3 50
22691-24-24W G1.1/27°X11 40 24 109.4 13 103 55
22691-32-32W G27X11 50 32 131.8 16 123.3 70
Ve 1 IR B TV, 2, I A T AL 18 5 09 22692 xxxx.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 22692-XX-XX.

53



B3k HOSE FITTING

22691 K

BSP FEMALE CONE DOUBLE HEXAGON

90° S H NIZSL 60° HMHEH

. o .o , LN B R ~F

(IG= T 5MED T ey " c - s1 <
22691K-04-04 G1/4°X19 6 04 17.5 5.5 18.5 11 19
22691K-06-04 G3/87X19 6 04 20 6.3 24 16 22
22691K-06-05 G3/87X19 8 05 20 6.3 24 16 22
22691K-06-06 G3/87X19 10 06 20 6.3 24 16 22
22691K-08-06 G1/27X14 10 06 23 7.5 28.5 19 27
22691K-08-08 G1/27X14 12 08 23.5 7.5 28.5 19 27
22691K-10-10 G5/87X14 16 10 24.5 9.5 30.5 22 30
22691K-12-12 G3/47X14 20 12 27.5 10.9 33 27 32
22691K-16-16 G17X11 25 16 43 11.7 | 385 33 41

E L ERRSHFRAKE . 2. FHTYHSEHRENS SO 22692K-xx-XX

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

SERIES NUMBER IS 22692K-XX-XX.

54



B3k HOSE FITTING

. A

£
b

2y

-

A

=

JJUUUL[LLL:
i

—

e

id”_UJJLILILIULI_Li

22111 22111-T 22111-W

L N IR SUERTH]

BSP FEMALE MULTISEAL
T JBALE __* B A
AFRAAE br 5 A C S2
22111-02-04 G1/87X28 6 04 19 2 14
22111-04-03 G1/4°X19 5 03 19 4 19
22111-04-04 G1/4”X19 6 04 20.5 4 19
22111-06-05 G3/87X19 8 05 20 5 22
22111-06-06 G3/87X19 10 06 22.5 5 22
22111-06-08 G3/87X19 12 08 21 5 22
22111-08-06T G1/2”X14 10 06 22.5 6 27
22111-08-08 G1/2”X14 12 08 25.5 6 27
22111-08-10 G1/27X14 16 10 24 6 27
22111-10-10 G5/87°X14 16 10 26 8 30
22111-10-12 G5/87X14 20 12 25 8 30
22111-12-08T G3/47X14 12 08 25 9.5 32
22111-12-10 G3/47X14 16 10 26 9.5 32
22111-12-12 G3/47X14 20 12 26 9.5 32
22111-16-12T G17X11 20 12 26.5 11 41
22111-16-14 G17X11 22 14 26.5 11 41
22111-16-16 G17X11 25 16 28.5 11 41
22111-20-16T G1.1/47X11 25 16 27.5 11 50
22111-20-20W G1.1/47X11 32 20 31.5 10 50
22111-24-24W G1.1/27X11 40 24 37 11.5 55
22111-32-32W G27X11 50 32 34 15 70

E: 1L ERACS T mMAVRE -

NUMBER IS 22212-XX-XX.

2. W TG E AR5 250N 22212-xX-XX o
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES

55




B3k HOSE FITTING

22141 22141-T 22141-W
45° GLE N IRSUER TH
45°BSP FEMALE MULTISEAL
T goE A

AR bR = A C H S2

22141-02-04 | G1/87X28 6 04 87| 2 | 216 | 14
22141-04-03 | G1/4"X19 5 03 413 | 4 | 204 | 19
22141-04-04 | G1/4°X19 6 04 87| 4 | 216 19
22141-06-05 | G3/8"X19 8 05 462 | 5 | 229 | 22
22141-06-06 | G3/8"X19 10 06 481 | 5 | 239 | 22
22141-06-08 | G3/8"X19 12 08 604 | 5 | 254 | 22
22141-08-04T | G1/2°X14 6 04 $39 | 6 | 238 27
22141-08-06T | G1/2°X14 10 06 25| 6 | 182 | 27
22141-08-08 | G1/27X14 12 08 618 | 6 | 268 | 27
22141-08-10 | G1/2°X14 16 10 73| 6 | 29 | 27
22141-10-10 | G5/87X14 16 10 737 8 | 289 | 30
2141-10-12 | G5/8"X14 20 12 798 | 8 | 325 | 30
22141-12-08T | G3/4”X14 12 08 632 | 95 | 283 | 32
2141-12-10 | G3/4"X14 16 10 704 | 95 | 296 | 32
2141-12-12 | G3/47X14 20 12 806 | 95 | 332 | 32
22141-16-12 G1”X11 20 12 816 | 11 | 335 | 41
22141-16-14 GI”XI11 2 14 833 | 11 | 33 | 41
22141-16-16 G1”XI11 25 16 892 | 11 | 35 | 41
22141-20-16T | G1.1/4°X11 25 16 914 | 91 | 37.1 | 50
22141-2020W | G1.1/47X11 32 20 1029 | 10 | 412 | 50
22141-24-24W | G1.1/27X11 40 24 1198 | 115 | 49 | 55
214132-32W | G2°XI1 50 32 1374 15 | 53 | 70

TE: 1L ERACS T MARE
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER 1522142-XX-XX.

2. T FHSHERS SN 22142-xx-XXo

56



B3k HOSE FITTING

22191 22191-T

,,-;:-z’z..-:r.zr:a-;ﬂz-iﬁ- T
i T T T A PR R

22191-W
90° JLE N ERECEKIH

90°BSP FEMALE MULTISEAL

B goE AR |
NIENAZ bR 5 A C H S2
22191-02-04 | G1/87X28 6 04 30 2 38 14
22191-04-03 G1/4°X19 5 03 27 4 35 19
22191-04-04 | G1/4”X19 6 04 30 4 38 19
22191-04-05 G1/47X19 8 05 33 4 415 | 19
22191-06-05 G3/87X19 8 05 33 5 42 22
22191-06-06 | G3/8”X19 10 06 353 5 443 | 22
22191-06-08 | G3/8”X19 12 08 41 5 50 22
22191-08-06T | G1/2°X14 10 06 353 6 | 468 | 27
22191-08-08 | G1/2”X14 12 08 41 6 | 525 | 27
22191-10-10 | G5/87X14 16 10 56.5 8 | 575 | 30
22191-10-12 | G5/8”X14 20 12 65.5 8 67 30
22191-12-08T | G3/4”X14 12 08 41 95 | 52 32
22191-12-10 | G3/4”X14 16 10 56.5 9.5 | 585 | 32
22191-12-12 | G3/4”X14 20 12 65.5 9.5 | 68 32
22191-16-12T G17X11 20 12 662 | 11 | 685 | 41
22191-16-14 G17X11 22 14 712 | 11 | 695 | 41
22191-16-16 G17X11 25 16 76.7 | 11 75 41
22191-20-16T | G1.1/4”X11 25 16 76.7 | 10 78 50
22191-20-20W | G1.1/4”X11 32 20 923 | 10 | 853 | 50
22191-24-24W | G1.1/27X11 40 24 109.4 | 115 | 108 55
22191-32-32W |  G2°X11 50 32 133.1 | 15 1238 | 70
H L EIRRSH TR . 2.0 WA TESEHER SO 22192-xx-xx.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 22192-XX-XX.

57



B3k HOSE FITTING

F

._% 13011-SP

%lf e S MBS

I SJLEEE VPR

%:\Miwm

_ BSP MALE

. X L4 E N ~f
£ = ZELE T —

NFRNAE bR 5 A C S1
13011-02-03SP R1/87X28 5 03 22 10 12
13011-02-04SP R1/87X28 6 04 22.5 10 12
13011-04-04SP R1/4°X19 6 04 27 14.5 14
13011-04-05SP R1/4°X19 8 05 25 15.4 14
13011-04-06SP R1/4°X19 10 06 27 14.5 17
13011-06-04SP R3/8°X19 6 04 27.5 15 17
13011-06-05SP R3/8°X19 8 05 26.5 15 17
13011-06-06SP R3/8°X19 10 06 27.5 15 17
13011-06-08SP R3/8°X19 12 08 30 15 19
13011-08-06SP R1/27X14 10 06 34.5 20 22
13011-08-08SP R1/27X14 12 08 35 20 22
13011-08-10SP R1/2”X14 16 10 38 20 22
13011-08-12SP R1/2”X14 20 12 38 20 27
13011-12-08SP R3/47X14 12 08 37 20 27
13011-12-10SP R3/47X14 16 10 38 20 27
13011-12-12SP R3/47X14 20 12 38.5 20 27
13011-12-16SP R3/47X14 25 16 39.5 20 32
13011-16-12SP R17X11 20 12 44 25.5 36
13011-16-16SP R17X11 25 16 45 25.5 36
13011-20-20SP R1.1/47X11 32 20 49.5 26.5 46
13011-24-24SP R1.1/2”X11 40 24 52.5 26.5 50
13011-32-24SP R27X11 40 24 57 30 65
13011-32-32SP R27X11 50 32 59 30 65

L ERARSHTRARE. 2. WFHEHTHESHERSECN 13012-xx-xxSP.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 13012-XX-XXSP.

58



B3k HOSE FITTING

—

I

14211

= & EHIORFS FMBELCFHO
ISO 8434-3—SAE J1453
51 o ORFS MALE O-RING SEAL

T ‘ % & , R

s ot e | me | O A Tc T
14211-04-04 9/167X18 6 04 0011 22.3 9.8 17
14211-06-04 11/167X16 6 04 0012 24.2 11.2 19
14211-06-06 11/16”X16 10 06 0012 24.2 11.2 19
14211-08-06 13/167X16 10 06 0014 26.8 12.8 22
14211-08-08 13/167X16 12 08 0014 27.3 12.8 22
14211-08-10 13/16”X16 16 10 0014 28.5 12.8 22
14211-10-08 17X14 12 08 0016 31.5 15.5 27
14211-10-10 17°X14 16 10 0016 33 15.5 27
14211-12-08 1.3/167X12 12 08 0018 36.5 17 32
14211-12-10 1.3/167X12 16 10 0018 36 17 32
14211-12-12 1.3/167X12 20 12 0018 36.5 17 32
14211-16-12 1.7/167X12 20 12 0021 37 17.5 38
14211-16-16 1.7/167X12 25 16 0021 39.5 17.5 38
14211-20-20 1.11/167X12 32 20 0025 41.5 17.5 46
14211-24-24 27X12 40 24 0029 445 17.5 55

L ERREHTRSAKE . 2. FHEHTESYE RS EON 14212-xx-XX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 14212-XX-XX.

59



B3k HOSE FITTING

Ly A L A Ly A

|I“ %

“{ mjumu;iw%%mmuuﬁ“f?% i
G Rt

24211 24211-T 24211-W
5 1l ORFS NI
ORFS FEMALE FLAT SEAT
ISO 12151-1—SAE J516
B BAE P s
NFRNAE bR = A H S2
24211-04-04 9/16”X18 6 04 25.5 8.5 19
24211-04-05 9/16”X18 8 05 22.5 8.5 19
24211-04-06 9/16”X18 10 06 22.5 8.5 19
24211-06-04T 11/16”X16 6 04 23.5 10 22
24211-06-05T 11/16”X16 8 05 23.5 10 22
24211-06-06 11/16”X16 10 06 26.5 10 22
24211-06-08 11/16”X16 12 08 26 10 22
24211-08-05T 13/16”X16 8 05 25 11 27
24211-08-06T 13/16”X16 10 06 24.5 11 27
24211-08-08 13/16”X16 12 08 28 11 27
24211-08-10 13/16”X16 16 10 29 11 27
24211-10-08T 17X14 12 08 29 13.5 30
24211-10-10 1”X14 16 10 34 13.5 30
24211-10-12 17X14 20 12 34 13.5 30
24211-12-08T 1.3/16”X12 12 08 30.5 15 36
24211-12-10T 1.3/167X12 16 10 32.5 15 36
24211-12-12 1.3/167X12 20 12 36.5 15 36
24211-12-16 1.3/167X12 25 16 36 15 36
24211-16-12T 1.7/167X12 20 12 32.5 14.8 41
24211-16-14T 1.7/167X12 22 14 35 14.8 41
24211-16-16T 1.7/167X12 25 16 343 14.8 41
24211-16-20 1.7/167X12 32 20 39.5 14.8 41
24211-20-16T 1.11/16”X12 25 16 34.5 15 50
24211-20-20W 1.11/167°X12 32 20 42.5 15 50
24211-20-24W 1.11/16”X12 40 24 42.5 15 50
24211-24-20T 27X12 32 20 36 14.8 60
24211-24-24T 27X12 40 24 37.2 14.8 60

L ERREHATRSANRE . 2. WFHEHTHESPE RS ESON 24212-xx-xX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER 1S24212-XX-XX

60



B3k HOSE FITTING

; IJLIJJJJ_L_I

s

24291 24291-T 24291-W

90° ZEHIORFS NHEL i
90°ORFS FEMALE FLAT SEAT
ISO 12151-1—SAE J516

(A B4 E % = R ki

ATRNAE b 5 A H C S2
24291-04-04 9/16"X18 6 04 275 | 435 8.5 19
24291-04-05 9/16"X18 8 05 33 44 8.5 19
24291-06-05T 11/167X16 8 05 33 375 10 22
24291-06-06 11/167X16 10 06 33 50 10 22
24291-08-08 11/16”X16 12 08 425 |55 10 22
24291-08-06T 13/167X16 10 06 353 | 39.8 11 27
24291-08-08 13/167X16 12 08 41 58 11 27
24291-08-10 13/167X16 16 10 56.5 | 61.5 11 27
24291-10-08T 1°X14 12 08 41 46 13.5 30
24291-10-10 17°X14 16 10 48.5 67.5 13.5 30
24291-10-12 1°X14 20 12 50.5 | 75.5 13.5 30
24291-12-10T 1.3/16"X12 16 10 56 51.5 15 36
24291-12-12 1.3/16"X12 20 12 655 | 78 15 36
24291-12-16 1.3/167X12 25 16 76.7 | 83.5 15 36
24291-16-12T 1.7/16"X12 20 12 655 | 63 14.8 41
24291-16-14T 1.7/16”X12 22 14 712 | 63 14.8 41
24291-16-16T 1.7/16”X12 25 16 769 | 67.5 14.8 41
24291-20-16T 1.11/16"X12 25 16 76.7 | 67.5 15 50
24291-20-20W 1.11/16”X12 32 20 93 100 15 50
24291-24-20T 27X12 32 20 915 | 785 14.8 60
24291-24-24T 27X12 40 24 1094 | 92 14.8 60

L ERRESHTRARE. 2. MFEHTHESEERSECN 24292-xx-XX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 24292-XX-XX.




B3k HOSE FITTING

A
C% 15611
/17!‘
| T SR AT HEE S MR AL
%& NPT MALE
E Sl
KB BE S (S — SN
ARRALE 5 A | C S1

15611-02-03 Z1/8°X27 5 03 21.5 | 105 12
15611-02-04 71/87X27 6 04 225 | 10.5 12
15611-04-03 Z1/4°X18 5 03 27 15 17
15611-04-04 71/4”X18 6 04 275 |15 17
15611-04-05 Z1/4°X18 8 05 275 |15 17
15611-04-06 71/47X18 10 06 275 |15 17
15611-06-04 Z3/87X18 6 04 29 16 19
15611-06-05 Z3/87X18 8 05 29 16 19
15611-06-06 73/87X18 10 06 29 16 19
15611-06-08 73/87X18 12 08 29.5 16 19
15611-08-06 71/27X14 10 06 33.5 | 195 22
15611-08-08 71/2°X14 12 08 34 19.5 22
15611-08-10 71/2°X14 16 10 355 | 195 22
15611-12-08 73/47X14 12 08 37 19.5 27
15611-12-10 Z3/4°X14 16 10 37 19.5 27
15611-12-12 73/47X14 20 12 385 | 195 27
15611-12-16 73/4”X14 25 16 39.5 | 195 32
15611-16-10 Z17X11.5 16 10 45 25.5 36
15611-16-12 Z17X11.5 20 12 45 25.5 36
15611-16-16 Z17X11.5 25 16 475 |255 36
15611-20-16 71.1/47X11.5 25 16 49 26.5 46
15611-20-20 71.1/4°X11.5 32 20 50.5 | 265 46
15611-24-24 Z1.1/2X11.5 40 24 535 | 275 50
15611-32-32 727X11.5 50 32 56.5 | 27.5 65

T L RIS H T g
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 15612-XX-XX.

2. MFHEH T HSHAE RS BN 15612-xx-xx.

62



B3k HOSE FITTING

A

C

)

%
%JJUUHJHJLU/

16011

5% | SAE AMERELH O T B

SAE O-RING SEAL

ISO 11962-SAE J1926

‘ W& ] R+

i 5 WRSE T ) oFA:| Py R =
16011-04-04 7/167X20 6 04 0904 21.5 9.1 14
16011-05-04 1/2X20 6 04 0905 21.5 9.1 17
16011-06-05 9/16”X18 8 05 0906 22.5 9.9 17
16011-06-06 9/16”X18 10 06 0906 22.5 9.9 17
16011-08-06 3/47X16 10 06 0908 23.5 11.1 22
16011-08-08 3/4°X16 12 08 0908 24 11.1 22
16011-10-08 7/87X14 12 08 0910 30 12.7 | 27
16011-10-10 7/87°X14 16 10 0910 31 12.7 | 27
16011-12-10 1.1/16”X12 16 10 0912 34 15.1 32
16011-12-12 1.1/16”X12 20 12 0912 34 15.1 32
16011-16-16 1.5/16”X12 25 16 0916 36 15.1 38

1L ERACS T mMAVE -

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

2. MFHEH T HSHAE RS BN 16012-xx-xX.

SERIES NUMBER IS 16012-XX-XX.

63



B3k HOSE FITTING

A
C
@45 | %y 16711L
T
I~
JJ L JIC 74°MALE CONE SEAL LONGER
21 N °
S| JIC AMEZL 74° AME

= EAE "B RO
o AFRHAE br = A C S1
16711L-04-04 7/16”X20 6 04 43 30.5 17
16711L-05-04 1/27X20 6 04 43 30.5 19
16711L-05-05 1/27X20 8 05 43 30.5 19
16711L-06-04 9/167X18 6 04 47 32.5 22
16711L-06-05 9/167X18 8 05 47 32.5 22
16711L-06-06 9/16”X18 10 06 47 32.5 22
16711L-08-06 3/47X16 10 06 51 36.5 24
16711L-08-08 3/47X16 12 08 51.5 36.5 24
16711L-10-06 7/87X14 10 06 56.5 40 30
16711L-10-08 7/87°X14 12 08 57 40 30
16711L-10-10 7/87X14 16 10 58 40 30
16711L-12-08 1.1/167X12 12 08 63 445 36
16711L-12-10 1.1/16”X12 16 10 64 44 .5 36
16711L-12-12 1.1/167X12 20 12 64 445 36
16711L-16-12 1.5/16”X12 20 12 66 445 41
16711L-16-16 1.5/167X12 25 16 67 445 41
16711L-20-16 1.5/87°X12 25 16 70.5 45.7 50
16711L-20-20 1.5/87X12 32 20 71.2 45.7 50
16711L-24-20 1.7/87X12 32 20 71.5 46 55
16711L-24-24 1.7/8°X12 40 24 71.5 46 55

64



B3k HOSE FITTING

A
W 16711
| e 2 41 JIC SMBEL 74° SMETT
- JIC 74°MALE CONE SEAL
=
@‘é ] I
51
R W2 ﬁ = s h
N % /\/‘ E VA —_—
Ny TR bR 5 A C S1
16711-04-03 7/16”X20 5 03 26 14 12
16711-04-04 7/16”X20 6 04 26 14 12
16711-05-04 1/27X20 6 04 26 14 14
16711-05-05 1/27X20 8 05 26 14 14
16711-05-06 1/27X20 10 06 26.5 14 17
16711-06-04 9/16°X18 6 04 26.6 | 14.1 17
16711-06-05 9/16”X18 8 05 26.6 | 14.1 17
16711-06-06 9/16”°X18 10 06 26.6 | 14.1 17
16711-08-06 3/47X16 10 06 30.7 | 16.7 22
16711-08-08 3/47X16 12 08 312 | 16.7 22
16711-10-06 7/87X14 10 06 343 | 193 24
16711-10-08 7/87X14 12 08 34 19.3 24
16711-10-10 7/87X14 16 10 358 | 19.3 24
16711-12-08 1.1/167X12 12 08 385 |21.9 30
16711-12-10 1.1/167X12 16 10 39.4 | 21.9 30
16711-12-12 1.1/16°X12 20 12 394 | 21.9 30
16711-12-16 1.1/167X12 25 16 42 |219 30
16711-14-10 1.3/16°X12 16 10 415 | 226 32
16711-14-12 1.3/167X12 20 12 40.5 | 22.6 32
16711-16-12 1.5/16°X12 20 12 43.6 | 23.1 36
16711-16-16 1.5/16X12 25 16 45.1 | 23.1 36
16711-20-16 1.5/8°X12 25 16 47 | 243 46
16711-20-20 1.5/8°X12 32 20 483 | 243 46
16711-24-20 1.7/8°X12 32 20 53 | 275 50
16711-24-24 1.7/8°X12 40 24 535 | 27.5 50
16711-32-32 2.1/2°X12 50 32 62.9 | 33.9 65

L ERRESHTRARE. 2. MFEHTHESETERSECN 16712-xx-XX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 16712-XX-XX.

65



B3k HOSE FITTING

g A ; 5] A

{ﬁ%}% a

| il
N A e ]
xﬁ —%iw

74°

KAJIC HMRSC 74° WAHETR

26711 26711-T JIC FEMALE 74°CONE SEAT
r = B2 S R

AR by 5 A C S2

26711-04-03 7/16”X20 5 03 14.5 9 15
26711-04-04 7/16°X20 6 04 15 9 15
26711-05-04 1/27X20 6 04 16 9.5 17
26711-05-05 1/27X20 8 05 16 9.5 17
26711-05-06 1/27X20 10 06 16.5 9.5 17
26711-06-04 9/16”X18 6 04 16.5 10.5 19
26711-06-05 9/16”X18 8 05 16 10.5 19
26711-06-06 9/16”X18 10 06 16.5 10.5 19
26711-06-08 9/16”X18 12 08 16 10.5 19
26711-08-06 3/47X16 10 06 18 11 24
26711-08-08 3/47X16 12 08 18.5 11 24
26711-08-10 3/4°X16 16 10 19.5 11 24
26711-10-08 7/8°X14 12 08 19.5 13 27
26711-10-10 7/8°X14 16 10 20.5 13 27
26711-10-12 7/87°X14 20 12 20 13 7
26711-12-08T 1.1/167X12 12 08 19 15 32
26711-12-10 1.1/167X12 16 10 21.5 15 32
26711-12-12 1.1/167X12 20 12 21.5 15 32
26711-12-16 1.1/167X12 25 16 23.5 15 32
26711-14-12 1.3/167X12 20 12 21.5 15 36
26711-16-12T 1.5/167X12 20 12 18.5 16 41
26711-16-16 1.5/16”X12 25 16 24.5 16 41
26711-16-20 1.5/167X12 32 20 24 16 41
26711-20-16T 1.5/87X12 25 16 23 17 50
26711-20-20W 1.5/87X12 32 20 26 17 50
26711-24-20W 1.7/8°X12 32 20 26.5 20 55
26711-24-24W 1.7/87X12 40 24 26.5 20 55
26711-32-24T 2.1/27X12 40 24 27 23.5 75
26711-32-32T 2.1/27X12 50 32 27 23.5 75

L ERRESHTRARE. 2. FEHTHESTENRSECN 26712-xx-XX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER 1S26712-XX-XX.

66



B3k HOSE FITTING

e 150 EHTIC iEL

e 74° HHETEISAE J514

45°JIC FEMALE 74°CONE
SEAT
26741 26741-W
KB UE S S - N |
AFRNAE br = A C H S2
26741-04-03 7/16”X20 5 03 37.6 9 172 | 15
26741-04-04 7/16”X20 6 04 37 9 18 15
26741-05-04 1/2°X20 6 04 405 | 95 | 185 | 17
26741-05-05 1/2”X20 8 05 415 | 95 20 17
26741-05-06 1/2”X20 10 06 446 | 95 | 203 17
26741-06-04 9/16°X18 6 04 405 105 | 185 | 19
26741-06-05 9/16”X18 8 05 42 1105 | 205 | 19
26741-06-06 9/16”X18 10 06 44 105 | 205 | 19
26741-08-06 3/47X16 10 06 45 | 11 215 | 24
26741-08-08 3/47X16 12 08 56.5 | 11 24 24
26741-10-08 7/87X14 12 08 575 |13 246 | 27
26741-10-10 7/87X14 16 10 60 |13 26 27
26741-10-12 7/87X14 20 12 757 |13 289 | 27
26741-12-08 1.1/16°X12 12 08 58 |15 255 | 32
26741-12-10 1.1/16°X12 16 10 60.5 |15 27 32
26741-12-12 1.1/16°X12 20 12 735 |15 30 32
26741-14-12 1.3/16°X12 20 12 774 |15 30 36
26741-16-12 1.5/16°X12 20 12 774 | 16 30 41
26741-16-16 1.5/16"X12 25 16 84 |16 325 | 41
26741-20-20W 1.5/87X12 32 20 959 |17 352 | 50
26741-24-20W 1.7/87X12 32 20 100.9 | 20 40.1 | 55
26741-24-24W 1.7/87X12 40 24 114.8 | 20 441 | 55
26741-32-32T 2.1/2°X12 50 32 1359 | 235 | 516 | 75
H L EIRRSHTRSRE . 2. WA THSHER T U 26742-xx-xx
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER 1S26742-XX-XX.




B3k HOSE FITTING

90° il JIC WIRLL
74° WHETHISAE J514

90°JIC FEMALE 74°CONE
SEAT
26791 26791-W
(A= BRELE L L —~ R il
AFRNAE br 5 A C H S2
26791-04-03 7/167X20 5 03 26.5 9 305 | 15
26791-04-04 7/167X20 6 04 275 9 33 15
26791-05-04 1/27X20 6 04 275 | 95 | 335 | 17
26791-05-05 1/27X20 8 05 31 95 | 385 | 17
26791-05-06 1/27X20 10 06 353 | 95 | 393 | 17
26791-06-04 9/16”X18 6 04 275 | 105 | 345 | 19
26791-06-05 9/16”X18 8 05 31 (105 | 39 19
26791-06-06 9/16”X18 10 06 33 (105 | 40 19
26791-06-08 9/16”X18 12 08 358 | 105 | 398 | 19
26791-08-06 3/47X16 10 06 33 |11 415 | 24
26791-08-08 3/47X16 12 08 25 |11 485 | 24
26791-08-10 3/47X16 16 10 49 |11 475 | 24
26791-10-08 7/87X 14 12 08 425 |13 495 | 27
26791-10-10 7/87X 14 16 10 485 |13 54 27
26791-10-12 7/87X14 20 12 50.5 |13 62 27
26791-12-08 1.1/16°X12 12 08 425 |15 50.5 | 32
26791-12-10 1.1/16°X12 16 10 485 |15 55 32
26791-12-12 1.1/16°X12 20 12 60.5 |15 63 32
26791-12-16 1.1/16°X12 25 16 74 |15 63.5 | 32
26791-14-12 1.3/16”X12 20 12 65.5 |15 63.5 | 36
26791-16-12 1.5/16"X12 20 12 65.5 |16 63.5 | 41
26791-16-16 1.5/16°X12 25 16 66 |16 755 | 41
26791-20-20W 1.5/8”X12 32 20 915 |17 80.5 | 50
26791-24-20W 1.7/8"X12 32 20 91.5 |20 80.5 | 55
26791-24-24W 1.7/8”X12 40 24 109.4 | 20 94 55
26791-32-32T 2.1/2°X12 50 32 133.1 | 235 | 121.8 | 75
H L ERRSHTRARE. 2. TR THSHENSBCN 26792-xx-xx.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 26792-XX-XX.

68



B3k HOSE FITTING

26791K

90° SEHIH 5 IIC NIRLL

74° PNHERISAE J514
90°JIC COMPACT FEMALE 74° CONE SEAT

K = WBAE S S - I |

NFRNAE bR 5 A C H S1 S2
26791K-04-04 7/16”X20 6 04 17.5 9 18 11 15
26791K-06-04 9/16”X18 6 04 20 10.5 20.5 14 19
26791K-06-06 9/16”X18 10 06 20 10.5 20.5 16 19
26791K-08-06 3/4”X16 10 06 23 11 25 19 24
26791K-08-08 3/4”X16 12 08 23.5 11 25 22 24
26791K-10-08 7/8°X14 12 08 25 13 27 22 27
26791K-10-10 7/87°X14 16 10 25 13 27 22 27
26791K-12-12 1.1/167X12 20 12 29 15 31 27 32
26791K-16-16 1.5/167X12 25 16 43 16 343 33 41

T L RIS H T g
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER 1S26792K-XX-XX.

2. W H TS E AR5 UM 26792K-xX-XX o

A
C
| %W

20°

Al

Hinm.

17811

FHfill SAE #MZEZL 90° Ak

SAE  MALE 90° CONE

S1
- " E R
o= HALE AFRH R b A | C 1
17811-04-04 7/16”X20 6 04 25.5 12.7 12
17811-05-05 1/2°X20 8 05 27 14.2 14
17811-06-06 5/87X18 10 06 28.5 15.7 17
17811-08-08 3/4°X16 12 08 34 19 22
17811-10-10 7/8°X14 16 10 38.5 22.4 24
17811-12-12 1.1/16°X14 20 12 44 254 30
L ERREHTRAKRE. 2. HEHTHESHRERSECON 17812-xx-xx.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 17812-XX-XX.

69



B3k HOSE FITTING

C__ A 27811
EHISAE NHBL90

oy ° PHETISAE J513

| SAE FEMALE 90°CONE SEAT

R

%
7
=

- | TR ]
e 20 ARG | B A ¢ =
27811-04-03 7/16”X20 5 03 14 9 15
27811-04-04 7/167X20 6 04 15 9 15
27811-05-05 1/27X20 8 05 16 9.5 17
27811-06-04 5/87X18 6 04 17 11.3 22
27811-06-05 5/87X18 8 05 17 11.3 22
27811-06-06 5/87°X18 10 06 17 11.3 22
27811-08-08 3/47X16 12 08 18.5 11 24
27811-10-08 7/87°X14 12 08 18.5 13 27
27811-10-10 7/87X14 16 10 20.5 13 27
27811-12-12 1.1/167X14 20 12 21.5 14.3 32
T 1 LS T RO . 2, W T AL O B E0N 27812 s
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER 1S27812-XX-XX.

70



B3k HOSE FITTING

21611

SRHINPSM PR
NPSM FEMALE 60° CONE
60° AMIEMISAE J514

T T T AT I TG,

UL

K= WAE S R
AN 5 A B S2

21611-04-04 1/4°X18 6 04 18 4.6 19
21611-04-06 1/47°X18 10 06 19 4.6 19
21611-06-04 3/8”X18 6 04 19 6 22
21611-06-05 3/8”X18 8 05 19 6 22
21611-06-06 3/87X18 10 06 19 6 22
21611-08-08 1/2°X14 12 08 215 |75 27
21611-12-10 3/47X14 16 10 24 |89 32
21611-12-12 3/47X14 20 12 24 |89 32
21611-16-12T 17X11.5 20 12 25 1105 | 41
21611-16-16 1”X11.5 25 16 27 105 | 41
21611-20-20W | 1.1/47°X11.5 32 20 295 [ 112 | 50
21611-24-24W | 1.1/2°X11.5 40 24 295 (112 | 55

L ERRESHTRARE. 2. FEHTHESTERSECN 21612-xx-XX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS21612-XX-XX.




B3k HOSE FITTING

A 87312
L SAE 3% % 3000PSIT
%9 7

SAE FLANGE 3000 PSI

J L= JMUUUUL ISO 12151-3—SAE J516
f 5 R =2 e ﬁ, " — R ki
AFRAAE br = A C D L
87312-08-08 127 12 08 455 | 302 | 24 | 6.73
87312-12-08 3/4” 12 08 475 | 381 | 317 | 6.73
87312-12-10 3/4” 16 10 49 | 381 317 | 6.73
87312-12-12 3/4” 20 12 485 | 381 | 317 | 6.73
87312-12-16 3/4” 25 16 49 | 381 31.7 | 6.73
87312-16-12 1” 20 12 51 | 444 | 38 8
87312-16-16 17 25 16 48 | 444 | 38 8
87312-16-20 17 32 20 53 | 444 | 38 8
87312-20-16 1.1/4” 25 16 57 1508 | 43 8
87312-20-20 1.1/4” 32 20 56 | 508 | 43 8
87312-24-20 1.1/2” 32 20 68 | 60.3 50 8
87312-24-24 1.1/2” 40 24 74 | 603 50 8
87312-32-24 2” 40 24 70 | 714 | 62 | 9.53
87312-32-32 27 50 32 70 | 714 | 62 | 9.53
87312-40-40 2.1/2” 64 40 76 | 84.1 74 | 9.53

L ERRESHTRARE. 2. MFEHTHESETERSECN 87312-xx-XxX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 87312-XX-XX.

72



B3k HOSE FITTING

: 87342

27,
z 7~ T
N

45° SAE %% 3000PSI
45°SAE FLANGE 3000 PSI
ISO 12151-3—SAE J516

" % & R

5 | RS e | BB Alclp]| u] L
87342-08-08 1/2” 12 08 56.5 30.2 24 235 | 6.73
87342-12-08 3/4” 12 08 58.9 38.1 | 31.7 24 6.73
87342-12-10 3/4” 16 10 69.9 38.1 | 31.7 | 253 | 6.73
87342-12-12 3/4” 20 12 73.5 38.1 | 31.7 | 29.5 | 6.73
87342-16-12 17 20 12 76.3 44 4 38 28.9 8
87342-16-16 17 25 16 83. 44 4 38 31 8
87342-16-20 17 32 20 94.5 44 4 38 33.8 8
87342-20-16 1.1/4” 25 16 82 50.8 43 30.5 8
87342-20-20 1.1/4” 32 20 95 50.8 43 36 8
87342-24-20 1.1/2” 32 20 95.9 60.3 50 35.2 8
87342-24-24 1.1/2” 40 24 108 60.3 50 42 8
87342-32-24 27 40 24 109.9 | 71.4 62 39.1 | 9.53
87342-32-32 27 50 32 129.3 | 71.1 62 43 9.53

L ERREHTRAWE. 2. MFEHTHESETERSECN 87342-xx-XX.

SERIES NUMBER IS 87342-XX-XX.

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

73



B3k HOSE FITTING

A

Y\
/ﬁtmuuuuuup 97392
. 90° SAE 7£>% 3000PSI
g@% 90°SAE FLANGE 3000 PSI
7] ISO 12151-3—SAE J516
(8}
e w R+
A= A - c e -
87392-08-08 1/2” 12 08 42.5 30.2 24 48 6.73
87392-12-08 3/4” 12 08 42.5 38.1 | 31.7 50 6.73
87392-12-10 3/4” 16 10 56 38.1 | 31.7 | 52.5 6.73
87392-12-12 3/4” 20 12 60.5 38.1 | 31.7 | 62.5 6.73
87392-12-16 3/4” 25 16 76.7 38.1 | 31.7 | 67.5 6.73
87392-16-12 1” 20 12 65.5 444 | 38 62 8
87392-16-16 17 25 16 66 444 | 38 74 8
87392-16-20 1” 32 20 91.5 444 | 38 78.5 8
87392-20-16 1.1/4” 25 16 76.7 50.8 | 43 67.5 8
87392-20-20 1.1/4” 32 20 75 50.8 | 43 86 8
87392-20-24 1.1/4” 40 24 107 | 50.8 |43 78.5 8
87392-24-20 1.12” 32 20 75 60.3 | 50 90 8
87392-24-24 1.127 40 24 89 60.3 | 50 102 8
87392-32-24 2” 40 24 1094 | 714 |62 94 | 9.53
87392-32-32 27 50 32 1155 | 714 |62 129.5 | 9.53
87392-40-40 2.1/27 64 40 131.8 | 84.1 | 744 | 1163 | 9.53

1L ERACS T mMAVRE -

2. MFHH T HSHAE RS BN 87392-xx-xX.

NOTE :1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS

SERIES NUMBER IS 87392-XX-XX.

74



B3k HOSE FITTING

A

w Vi
ﬁ

87392-H

90° SAE %% 3000PSI

Z
'41_%_(: 90°SAE FLANGE SPECIAL HEIGHT
‘ W& R+

N 5 BEERS T o) A e = = L
87392-12-12(H90) 3/4” 20 12 65.5 38.1 32 90 6.73
87392-12-12(H100) 3/4” 20 12 65.5 38.1 32 100 | 6.73
87392-12-12(H127) 3/4” 20 12 65.5 38.1 32 127 | 6.73
87392-12-12(H150) 3/4” 20 12 65.5 38.1 32 150 | 6.73
87392-16-16(H100) 17 25 16 76.7 44 .4 38 100 8
87392-16-16(H127) 17 25 16 76.7 44.4 | 38 127 8
87392-16-16(H150) 17 25 16 76.7 444 | 38 150 8
87392-20-20(H100) 1.1/4” 32 20 91.5 50.8 | 43 100 8
87392-20-20(H157) 1.1/4” 32 20 91.5 50.8 | 43 127 8
87392-20-20(H150) 1.1/4” 32 20 91.5 50.8 | 43 150 8
87392-24-24(H127) 1.12” 40 24 109.4 | 50.8 | 50 127 8

75



B3k HOSE FITTING

FL 3000 PSI HALF FLANGE

FS 6000 PST HALF FLANGE

SAE X253k
K 5 hEME R ki B
A B D H M N Mpa
3000PSI
FL-08 1/2” 54 | 456 | 9 | 62 | 381 | 175 | M8X25
FL-12 3/4” 65 | 51.8 | 11 | 62 | 47.6 | 222 | M10X30 34.5
FL-16 17 70 | 584 | 11 | 7.5 | 524 | 262 | M10X30
FL-20 1.1/4” 79 | 726 | 11 | 7.5 | 587 | 30.5 | M10X30 27.6
FL-24 1.1/2” 91 | 822 | 135| 7.5 | 699 | 357 | MI2X35
FL-32 27 102 964 | 135| 9 | 77.8 | 429 | MI2X35 207
FL-40 2.1/2” 114 | 1082 | 13.5| 9 | 88.9 | 50.8 | M12X40 17.2
FL-48 3” 135 | 1306 | 175 | 9 | 1064 | 61.9 | MI6X50 13.8
6000PSI
FS-08 127 56 | 472 | 9 | 72 | 405 | 182 | M8X30
FS-12 3/4” 71 | 60 11 | 82 | 508 | 23.8 | MI0X35
FS-16 17 81 | 69.6 | 13.5| 9 | 572 | 27.8 | M12X45
FS-20 1.1/4” 95 | 772 | 135 | 9.8 | 66.6 | 31.8 | MI2X45 2
FS-24 1.1/2” 113 95 | 175]| 12 | 793 | 36.5 | MI16X55
FS-32 27 133 | 1138 | 22 | 12 | 96.8 | 445 | M20X70

76



B3k HOSE FITTING

2]

2

— 87612
]

/Lj;/////t—r/f_"""??/"ﬁ_’?] SAE /% 2% 6000PSI

[T

SAE FLANGE 6000 PSI

ISO 12151-3—SAE J516

(A= it h) = " x b
AFRAE =) A C D L
87612-08-08 127 12 08 475 317 | 24 | 175
87612-12-10 3/4” 16 10 50.5 413 | 32 | 876
87612-12-12 3/4” 20 12 51.5 413 | 32 | 876
87612-16-12 1” 20 12 56 476 | 38 | 9.53
87612-16-16 1” 25 16 525 476 | 38 | 9.53
87612-16-20 1” 32 20 61 47.6 | 38 9.53
87612-20-16 1.1/4 25 16 65 54 | 44 10.29
87612-20-20 1.1/4 32 20 62 54 | 44 10.29
87612-24-20 1.1/2” 32 20 75 63.5 | 51 12.57
87612-24-24 1.1/2” 40 24 79 63.5 | 51 12.57
87612-32-24 27 40 24 85 794 | 67 12.57
87612-32-32 27 50 32 79 794 | 67 12.57

L ERREHTRARE. 2. FEHTHESTERSECN 87612-xx-xX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 87612-XX-XX.

71



B3k HOSE FITTING

A 87642
w bt~ [ 45° SAE 7%= 6000PSI
N 45° SAE FLANGE 6000 PSI
ISO 12151-3—SAE J516
B o L4 & R ~F

fo = e P ] A © D | H L
87642-08-08 1/2” 12 08 57.5 31.7 24 25 7.75
87642-08-12 1/2” 20 12 77 31.7 24 29.6 7.75
87642-12-10 3/4” 16 10 72.5 41.3 32 28.2 8.76
87642-12-12 3/4” 20 12 75.5 41.3 32 32 8.76
87642-16-16 1” 25 16 86 47.6 38 34, 9.53
87642-20-20 1.1/4” 32 20 100 54 44 40 10.29
87642-24-20 1.1/2” 32 20 105.8 63.5 51 45.1 12.57
87642-24-24 1.1/2” 40 24 112 63.5 51 46 12.57
87642-32-24 27 40 24 125.4 79.4 67 54.7 12.57
87642-32-32 27 50 32 143 79.4 67 49 12.57

T L ECS AT RMAE . 2. TS HE S E0N 87642-xx-xx.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 87642-XX-XX.




B3k HOSE FITTING

A

= T
fLHM

87692

90° SAE 2% 6000PSI

90° SAE FLANGE 6000 PSI

e ] ISO 12151-3—SAE J516
(A=) B i f = i

AARE b 5 A C D H L
87692-08-08 127 12 08 4.5 317 | 24 50 7.75
87692-12-10 3/4” 16 10 56 413 | 32 | 565 8.76
87692-12-12 3/4” 20 12 50.5 413 | 32 | 655 8.76
87692-16-12 17 20 12 65.5 476 | 38 69 9.53
87692-16-16 17 25 16 66 476 | 38 78 9.53
87692-16-20 17 32 20 91.5 476 | 38 85.5 9.53
87692-20-16 1.1/4” 25 16 76.7 54 | 44 78.5 10.29
87692-20-20 1.1/4” 32 20 75 54 | 44 92 10.29
87692-24-20 1.1/27 32 20 91.5 635 | 51 94.5 12.57
87692-24-24 1.1/2” 40 24 89 63.5 | 51 107 | 12.57
87692-32-24 2” 40 24 1094 | 794 | 67 116 | 12.57
87692-32-32 2” 50 32 1155 | 794 | 67 1385 | 12.57

TE: 1L ERACS T MAE
NOTE : 1. FOR USE WITH BRAIDED HOSES 2.IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 87692-XX-XX.

2. TR FHSHE RS SN 87692-xx-xXo

79



B3k HOSE FITTING

A
— 18611
] T FAARISMES 60° SMeEiH

60°

51 JIS METRIC MALE 60°CONE SEAT
L " R
s HAE AN W = A | B | si

18611-14-04 M14X1.5 6 04 29.5 17 17
18611-16-04 M16X1.5 6 04 30.5 18 17
18611-16-06 M16X1.5 10 06 30.5 18 17
18611-18-06 M18X1.5 10 06 30.5 18 19
18611-20-08 M20X1.5 12 08 35 20 22
18611-22-08 M22X1.5 12 08 35.5 20 24
18611-24-10 M24X1.5 16 10 39.5 21.5 27
18611-30-12 M30X1.5 20 12 45.5 26 32
18611-33-16 M33X1.5 25 16 50.5 30 36
18611-36-20 M36X1.5 32 20 56.5 33 38
18611-42-24 M42X1.5 40 24 59.5 36 46

H L ERRSHTRARE. 2. T THSHENSBCN 18612-xx-xx.

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS

SERIES NUMBER IS 18612-XX-XX.

80



B3k HOSE FITTING

HAR I WEREL 60° P HET

et — . JIC METRIC FEMALE 60°
- W%%}J o CONE SEAT
EWH! [T 3= _H&l]
N e
28611 28611-W
®oB W24 B wE A

NN tr 5 A B S1 S2
28611-12-14 M12X1.5 6 04 20 9 17 17
28611-14-04W M14X1.5 6 04 23 10.5 19 19
28611-14-06 M14X1.5 10 06 21 10.5 19 19
28611-16-04 M16X1.5 6 04 24 10 22 22
28611-16-05 M16X1.5 8 05 24 10 22 22
28611-16-06 M16X1.5 10 06 24 10 22 22
28611-18-06 M18X1.5 10 06 24 11.5 24 24
28611-18-08 M18X1.5 12 08 24.5 11.5 24 24
28611-20-08 M20X1.5 12 08 28.5 12 27 27
28611-22-08 M22X1.5 12 08 25.5 14 27 27
28611-24-08 M24X1.5 12 08 27.5 15 32 32
28611-24-10 M24X1.5 16 10 28 15 32 32
28611-30-12 M30X1.5 20 12 28.5 18.3 36 36
28611-33-12 M33X1.5 20 12 31 21.3 41 41
28611-33-16 M33X1.5 25 16 32 21.3 41 41
28611-36-20 M36X1.5 32 20 35.5 20 46 46
28611-42-24W M42X1.5 40 24 36 18.8 55 55

T L EIRACS H T a8
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 28612-XX-XX.

2. MFHEH T HSHAE RS BN 28612-xx-xX.

81



B3k HOSE FITTING

[T
: //JM““M 00° FAAHINIES 60° PysETT

90° JIS METRIC FEMALE 60° CONE SEAT

Nee
28691 28691-W
(A=) HELE ” " . b
AMHRE | W 5 A B | H| S1 | s2
28691-14-04W | MI14X1.5 6 04 30 [ 105 40 | 19 | 19
28691-14-06 M14X1.5 10 06 353 [ 105|433 | 19 | 19
28691-16-05 M16X1.5 8 05 33 10 | 44 | 22 | 22
28691-18-06 M18X1.5 10 06 353 | 115|463 | 24 | 24
28691-22-08 M22X1.5 12 08 41 14 | 525] 27 | 27
28691-24-10 M24X1.5 16 10 56 |15 | 59 | 32 | 32
28691-30-12 M30X1.5 20 12 655 | 183|715 | 36 | 36
28691-33-16 M33X1.5 25 16 767 | 213 | 76 | 41 | 41
28691-36-20 M36X1.5 32 20 93 |20 | 89 | 46 | 46
28691-42-24W | M42X1.5 40 24 109.4 | 18.8| 108 | 55 | 55
H L ERRSHTFRAE. 2. W THSRE IS BN 28692-xx-xx.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 28692-XX-XX.

82



B3k HOSE FITTING

===

6Q°

<]

WUHJUHJULL

GAS FEMALE 60°CONE SEAT

19611
H ATkl MRS 60° HMETIILS

T R
s L T A B [
19611-04-04 G1/4”X19 3 04 29 16 17
19611-06-06 G3/87X19 10 06 31 18 19
19611-08-08 G1/27X14 12 08 355 20 22
19611-12-12 G3/47X14 20 12 41 22 30
19611-16-16 G17X11 25 16 45.5 24 36

L ERAS TR

IS 19612-XX-XX.

2. MFEAHTHSRKERTEN 19612-xx-xX0
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES NUMBER

H A DS RS 60° PNHEH IS

g [ [ |
) [wmm ggwﬂﬂm GAS FEMALE 60°CONE SEAT
ez JIS B8363
29611 29611-W
® = R ~F
= WL E AFRHNE bR = A C S1 S2
29611-02-03 G1/87X28 5 03 20 7 14 14
29611-04-04 G1/47X19 6 04 21 8 19 19
29611-04-05 G1/4°X19 8 05 21 8 19 19
29611-06-04 G3/87°X19 6 04 23 9 22 22
29611-06-06 G3/87X19 10 06 23 9 22 22
29611-08-06 G1/2°X14 10 06 28 12 27 27
29611-08-08 G1/27X14 12 08 26.5 12 27 27
29611-10-10 G5/8°X14 16 10 30.5 11.5 30 30
29611-12-10 G3/47X14 16 10 30 13.5 32 32
29611-12-12 G3/4°X14 20 12 30.5 13.5 32 32
29611-16-16 G17X11 25 16 32 16 41 41
29611-20-20W G1.1/4"X11 32 20 43 18.5 50 50
29611-24-24W G1.1/27X11 40 24 43.5 19 55 55
29611-32-32W G27X11 50 32 46.5 23 70 70

L ERAS T MR

2. MFEHTHSRRERSTEN 29612-xx-xx0

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS SERIES NUMBER IS

29612-XX-XX.

83



B3k HOSE FITTING

90° HARIE NIRLL
60° WNHEM JIS B8363

90°JIS GAS FEMALE 60°
CONE SEAT
AV =7 BRAE s % — A ki
AMAR | b5 5 A C H SI | S2
29691-04-04 G1/4°X19 6 04 30 8 38 19 | 19
29691-04-05 G1/4”X19 8 05 34 8 41 19 | 19
29691-06-06 G3/8”X19 10 06 356 | 9 | 458 | 22 | 22
29691-08-08 G1/27X14 12 08 41 12 53 27 | 27
29691-10-10 G5/87X14 16 10 56.5 | 11.5| 6l 30 | 30
29691-12-12 G3/4”X 14 20 12 65.5 | 13.5| 69 32 | 32
29691-16-16 G17X11 25 16 767 |16 | 765 | 41 | 41
29691-20-20W | G1.1/47X11 32 20 915 | 185 925 | 50 | 50
29691-24-24W | G1.1/2°X11 40 24 1094 | 19 | 1105 | 55 | 55
29691-32-32W | G27X11 50 32 131.8 [ 23 | 1338 | 70 | 70
H L ERRSHTRARE. 2. TR THSHENS B0 29692-xx-xx .
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 29692-XX-XX.




B3k HOSE FITTING

A
? Hilyk2% 88111
.
s JHJMUHJLU/ JIS FLANGE
\ L4 & R ~F
s HALE NRAE br 5 A C D L
88111-10-08 5/8” 12 08 45 34.2 27.8 6.7
88111-10-10 5/8” 16 10 45.5 342 27.8 6.7
88111-10-12 5/8” 20 12 46 34.2 27.8 6.7

1L ERACS T mEAVRE -

2. MFHEH T HSHAE RS BN 88112-xx-xX.

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 88112-XX-XX.

A

N YA
/—LH_“_M—“—”—IUUJ-U, 45 ° EI ﬁ%lj‘/é:\;:
{2000 45°JIS FLANGE
\
L7 & IN F
N5 YRS E
NEA I A C D H L
88141-10-08 5/8” 12 08 589 34.2 27.8 24 6.7
88141-10-10 5/8” 16 10 69.6 342 27.8 253 | 6.7
88141-10-12 5/8” 20 12 76.3 342 27.8 289 | 6.7

e L RS TR E .

2. TR TS AE RS SN 88142-xx-XXo

NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 88142-XX-XX.

85



B3k HOSE FITTING

A

.
[ 88191
/?;ﬁiww 90° [tk

= 90°JIS FLANGE
2 5
S
C
o ‘ L7 & R ~F
(A 124 E per = " c 5 m L
88191-10-08 5/8” 12 08 41 342 27.8 48 6.7
88191-10-10 5/8” 16 10 56 342 27.8 52.5 6.7
88191-10-12 5/8” 20 12 66.2 342 27.8 62 6.7

L ERREHTRARE. 2. MFEHTHESEERSECN 88192-xx-XX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 88192-XX-XX.

A
e 20011-ST
[ - NI MBS TR K
o | o=
D MJMLMM METRIC FEMALE WATERWASH INSERTS
—
KB U E A R
AR b = A | d b
20011-22-03ST M22X1.5 5 03 24.5 14 34.5
20011-22-04ST M22X1.5 6 04 25 14 34.5
20011-22-05ST M22X1.5 8 05 25 14 34.5
20011-22-06ST M22X1.5 10 06 25 14 34.5
L ERRESHTRAKRE . 2. WFHEHTHESEE RS ESON 20012-xx-XX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 20012-XX-XX.

86



B3k HOSE FITTING

A

Al 70011
%A_ 7 UNTlESEC LN
= 2 ( I METRIC BANJO
M DIN 7642
KB BAE B O

AFRAE by 5 A d D H
70011-10-03 M10X1 5 03 145 | 101 | 17 | 10
70011-10-04 M10X1 6 04 17 10.1 | 17 | 10
70011-12-04 M12X1.5 6 04 205 | 121 | 20 | 12
70011-12-05 M12X1.5 8 05 205 | 121 | 20 | 12
70011-12-06 M12X1.5 10 06 205 | 121 | 20 | 12
70011-14-04 M14X1.5 6 04 19 | 14.1 24 | 14
70011-14-05 M14X1.5 8 05 19 | 14.1 24 | 14
70011-14-06 M14X1.5 10 06 21 | 141 247 | 14
70011-16-04 M16X1.5 6 04 20.5 | 16.1 28 | 16
70011-16-05 M16X1.5 8 05 20.5 | 16.1 28 | 16
70011-16-06 M16X1.5 10 06 205 | 16.1 28 | 16
70011-18-04 M18X1.5 6 04 23 | 18.1 32 | 20
70011-18-05 M18X1.5 8 05 24 | 18.1 32 | 20
70011-18-06 M18X1.5 10 06 24 | 18.1 32 | 20
70011-18-08 M18X1.5 12 08 245 | 18.1 32 | 20
70011-22-06 M22X1.5 10 06 28.1 |22.1 39 | 25
70011-22-08 M22X1.5 12 08 28.5 |22.1 39 | 25
70011-22-10 M22X1.5 16 10 275 | 221 39 | 25
70011-26-12 M26X1.5 20 12 30.5 | 26.1 46 | 30
70011-30-16 M30X1.5 25 16 37 | 30.1 54 | 36
70011-30-20 M30X1.5 32 20 41 | 30.1 54 | 36

T L EUS AT RMARE. 2. TS HE S EON 70012-xx-xx.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 70012-XX-XX.

87



B3k HOSE FITTING

C. A
700M
%m U8 B R AR
>7 METRIC BOLT
DIN 7643
A\m
R ~f
: B ¥ESE
£ = B A B 7 3
700M-10 MI10X1 19 4 6 14
700M-12 MI12X1.5 24 6 6 17
700M-14 M14X1.5 26 8 7 19
700M-16 M16X1.5 28 75 22
700M-18 MI8X1.5 32 | 11 8 24
700M-22 M22X1.5 39 14 9 27
700M-26 M26X1.5 45 | 18 | 10 32
700M-30 M30X1.5 s1 | 22 | 11 36

88



B3k HOSE FITTING

A
e

/
" 9 [

72011

%
S B A
| IR BSP BANJO

K = JBLLE S S — A

NN T A d | D H
72011-02-03 G1/87X28 5 03 18 9.9 24 16
72011-02-04 G1/87X28 6 04 18.5 9.9 24 16
72011-04-03 G1/47X19 5 03 19 13.3 24 15
72011-04-04 G1/47X19 6 04 19.5 13.3 24 15
72011-04-05 G1/47X19 8 05 19.5 13.3 24 15
72011-04-06 G1/47X19 10 06 19.5 13.3 24 15
72011-06-04 G3/87X19 6 04 22 16.7 29 20
72011-06-05 G3/87X19 8 05 22 16.7 29 20
72011-06-06 G3/87X19 10 06 22 16.7 29 20
72011-06-08 G3/87X19 12 08 23 16.7 29 20
72011-08-05 G1/27X14 8 05 27.5 21 38 25
72011-08-06 G1/27X14 10 06 27.5 21 38 25
72011-08-08 G1/27X14 12 08 28 21 38 25
72011-08-10 G1/2°X14 16 10 29 21 38 25
72011-10-10 G5/87X14 16 10 28 23 40 27
72011-12-10 G3/47X14 16 10 32 26.5 48 31
72011-12-12 G3/4°X14 20 12 32 26.5 48 31
72011-16-08 G17X11 12 08 40 33.3 60 42
72011-16-12 G17X11 20 12 40 333 60 42
72011-16-16 GI”7X11 25 16 41 33.3 60 42

L ERRESHTRARE. 2. FEHTHESEETERSECN 72012-xx-XX.
NOTE : 1. FOR USE WITH BRAIDED HOSES 2. IF USE WITH SPIRAL HOSES , HOSE FITTINGS
SERIES NUMBER IS 72012-XX-XX.




B3k HOSE FITTING

C. A
= 3. 720B
N J - B HIESE Y i
M
BSP BOLT
R ~F
A= 24 E
A B C S1
720B-02 G1/87X28 29.5 4.8 4.8 14
720B-04 G1/47X19 28.5 6 6 19
720B-06 G3/87X19 38.5 9 7 22
720B-08 G1/27X14 44 13 8.5 27
720B-10 G5/87X14 48.5 15 10 30
720B-12 G3/47X14 56 18 10 32
720B-16 G17X11 68.5 22 13 41
| ik iia | 90011
T ] I ]
- S
DOUBLE CONNECTOR
- oo R
o= AR = L
90011-04 6 04 69
90011-05 8 05 69
90011-06 10 06 73
90011-08 12 08 77
90011-10 16 10 89
90011-12 20 12 96
90011-16 25 16 114
90011-20 32 20 132
90011-24 40 24 162
90011-32 50 32 170
1 T 4% . NOTE:FOR WIRE BRAID HOSE.

90



B3k HOSE FITTING

90012
O i, X TH] 42 6
MMMWUHUMU_L DOUBLE CONNECTOR
L

o 7N i I3 <
s AR ) n
90012-04 6 04 83
90012-05 8 05 87
90012-06 10 06 37
90012-08 12 08 91
90012-10 16 10 97
90012-12 20 12 11
90012-16 25 16 134
90012-20 32 20 153
90012-24 40 24 172
90012-32 50 32 178

VE: T 45848 . NOTE:FOR SPRIAL HOSE.

91



	目录（catalogue）
	型号索引（INDEX）

	01200
	01300
	01400
	00100
	00110
	00110-A
	00200
	00210
	03310
	00400
	00401
	00018
	00TF0
	00500
	00621
	型号索引（ INDEX）
	2021120211-T
	2024120241-T
	2029120291-T
	10411
	2041120411-T
	20411C20411C-T
	2044120441-T
	2049120491-T
	20491C20491C-T
	10511
	2051120511-T
	20511C20511C-T
	2054120541-T
	20541C20541C-T
	2059120591-T
	20591C20591C-T
	10611
	2061120611-T
	2069120691-T
	10711
	2071120711-T
	20791
	10811L
	2011120111-T
	2014120141-T
	50011
	50091
	51011
	51091
	NL NS
	12211
	12611
	12611A
	2261122611-T22611-W
	22611D
	22611D-SM
	2264122641-T22641-W
	2269122691-T22691-W
	22691 K
	2211122111-T22111-W
	2214122141-T22141-W
	2219122191-T22191-W
	14211
	2421124211-T24211-W
	2429124291-T24291-W
	15611
	16011
	16711L
	16711
	2674126741-W
	2679126791-W
	26791K
	17811
	27811
	21611
	87312
	87342
	87392
	87392-H
	87612
	87642
	87692
	18611
	2861128611-W
	2869128691-W
	19611
	2961129611-W
	88141
	88191
	20011-ST
	70011
	700M
	720B
	90011
	90012


